FITIR A, Pl per
ik ypress [f —rlangesae—_){/iiTET I

@ 9 @ @ & & Flange SAE

Ctpanuua / Page 5 6 7 8 9

e = == At [
i) = m m wem gl

FGO (3/6) CGO (3/6) PGO (3/6) DGO (3/6) NGO (3/6) BGO (3/6)
BSP Threaded Counter Bsp Threaded Flat BSP Threaded Double BSP Threaded 90° BSP Threaded 90°
Flanges Flanges Flanges Flanges Flanges

Ctpanuua / Page 10 1 12 13

bl M

BSP Threaded Flanges

|
FDG (3/6) NOG (3/6) FDD (3/6) NOD (3/6)
60° Tapered Seat BSP 90°Flanges With 60° DIN 2353 Metric DIN 2353 Metric
Threaded Flanges Tapered Seat And BSP Threaded Flanges Threaded 90° Flanges
Ctpanuua / Page 14 15
- == =
I T l :
@ !-J -J. | e 2 I
FNO (3/6) CNO (3/6) DNO (3/6) NNO (3/6)
NPT Threaded Counter NPT Threaded Double NPT Threaded 90°

NPT Threaded Flanges Flanges Flanges Flanges

Ctpanuua / Page 18 20

FDJ (3/6) NOJ (3/6) FUO (3/6) CUO (3/6) NUO (3/6)

JIC Threaded 90° UN Threaded Counter UN Threaded 90°

JIC Threaded Flanges UN Threaded Flanges

Flanges Flanges Flanges
Ctpanuua / Page 23 24 26
FSO0 (3/6) CS0 (3/6) FSM (3/6) CSM (3/6)
Weld In Flanges Weld In Counter Flanges Memc:ﬁ";:::eld In Mg:)rLcnf:I{‘)’e:l\;\ll’]eglgsln
Ctpanuua / Page 27 28 29 30
== F
£ TI N I
-——l L .-——i L. J i | "
NSO (3/6) NSM (3/6) VSM (3/6) BSO (3/6)
Metric Pipe Weld In 90° Weld In 90° Counter

Weld In 90° Flanges Weld In 90° Flanges

Flanges Flanges

Dimensions and general characteristics may be changed at any time without prior notice.

Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product
Any use of the product not in conformance with our instructions may be dangerous.

1-1



FYTIE B ] | T w'" i NN
wikay Y/press 1Tl - ['1]] l"l"l'llll‘?.l‘"l.

@ 9 @ @ & & Flange SAE

Ctpanuua / Page 31 32 33
ot |
| - J—
Flanges [
PSO (3) LSO (3) FFTR FFOR
Weld In Flat Counter Flat Flanges With
Weld In Flat Flanges Flanges Poket Flat Flanges Through Hole

Ctpanuua / Page 34

FFOR (2F) FFC (3/6)

Oval Flanges With Check Pressure SAE

Through Hole Flange

Ctpanuua / Page 36 37 38 39 40

T |

on
wadon =
anges = v orrrarr prrrrrss l_— s
L] ) [ L] #
FBO (3/6) CBO (3/6) DBO (3/6) FBM (3/6) CBM (3/6)

Metric Pipe Cylindric Hole Metr. Pipe Cyl. Hole weld
Weld On Flanges on counter flanges

CtpaHnuua / Page 41 42 43 44

=
anges

"
|
™

Weld on Flanges Weld on Counter Flanges Weld on Double Flanges

I I
%

BBO (3/6) NBO (3/6) FCO (3/6) CCO (3/6)
Weld On 90° Flanges

Weld On 90° Flanges Blind Flanges Blind Counter Flanges

Ctpanuua / Page 45 46 47
/\. ) LT II_{,'_—'.JE ©
(. ] :‘l/ \\I [,:' | :
S00 (3/6) SI0 (3/6) SOP (3/6) SIP (3/6)
Cut Split Flanges Uncut Split Flanges Cut Flat Split Flanges ~ Uncut Flat Split Flanges
Ctpanuua / Page 49 50
[ [
-on | 1l 1l
Adapters I C I C
EBM (3/6) EBO (3/6)
Weld On Adapters for

Metric Tube Weld On Adapters

Dimensions and general characteristics may be changed at any time without prior notice.

Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product
Any use of the product not in conformance with our instructions may be dangerous.

2-1



rYTIE R, nrw = W." s+ I NV X T
wikay Y/press I - e Wi YT AViEvi.

@ 9 @ @ & & Flange SAE

CrtpaHuua / Page

ters

EOK (3/6) EOD (3/6)
BSP Tapered Threaded DIN 2353 Metric
Adapters Threaded Adapters

Ctpanuua / Page 53 54 55 56

ect. |

MDDO G4D0 G4G0 G3G0
DIN 2353 Metr. Threaded DIN 2353 Metr. Threaded BSP Threaded 90° Pump elbows with three
Straight Connect. 90° Connect. Connectors fixing holes
Ctpanuua / Page 57 58

1,

SCM (3/6) SCU (3/6)
Hab6op ¢dnaHua SAE Hab6op ¢dnaHua SAE
(MeTpuka) (UNC)

Dimensions and general characteristics may be changed at any time without prior notice.

Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product
Any use of the product not in conformance with our instructions may be dangerous.

3-1



See il rw . mr
miHypress [/} ~ FlangeSAEw )

FGO03
FGO06

Nonoeka dnaHua pesbboBas BSP

BSP Threaded Flanges T

T
1
0 |0

I

Screws

max
pressure | part number

sizel A | B Cc | D] E | F |G| H] I | L [Metic] Unc_ |iypel

3000 psi
FG03-08 1/2"  1/2" GAS 13 38,10 57 17,48 46 36 16 19 9 M8x30 5/16x1"1/4 4075
FG03-0806 1/2"  3/8"GAS 13 38,10 57 17,48 46 36 16 19 9 M8x30 5/16x1"1/4 4075
345 FG03-12 3/4"  3/4" GAS 19 47,63 65 22,23 50 36 18 19 11 M10x35 3/8x1"1/2 4100
FG03-1208 3/4"  1/2" GAS 13 47,63 65 22,23 50 36 18 19 11 M10x35 3/8x1"1/2 4100
FG03-16 1" 1" GAS 25 52,37 70 26,19 59 38 18 22 11 M10x35 3/8x1"1/2 4131
FG03-1612 1" 3/4" GAS 19 52,37 70 26,19 55) 85) 21 19 11 M10x40 3/8x1"1/2 4131
276 FG03-20 1"1/4  1"1/4 GAS 32 58,72 79 30,18 68 40 21 22 11,5 M10x40 7/16x1"3/4 4150
FG03-2016 1"1/4 1" GAS 25 58,72 81 30,18 65 42 25 24 11,5 M10x40 7/16x1"3/4 4150
FG03-24 1"1/2  1"1/2 GAS 38 69,85 93 35,71 78 45 25 24 13,5 M12x45 1/2x1"3/4 4187
207 FG03-2420 1"1/2  1"1/4 GAS 32 69,85 95 35,71 78 45 27 24 13,5 M12x45 1/2x1"3/4 4187
FG03-32 2" 2" GAS 51 77,77 102 42,88 90 45 25 30 13,5 M12x45 1/2x1"3/4 4225
FG03-3224 2" 1"1/2 GAS 38 77,77 102 42,88 90 45 25 26 13,5 M12x45 1/2x1"3/4 4225
172  FG03-40 2"1/2  2"1/2 GAS 63 88,90 114 50,80 105 50 25 30 13,5 M12x45 1/2x1"3/4 4275
173  FG03-4032 2"1/2  2"GAS 51 88,90 114 50,80 105 50 25 30 13,5 M12x45 1/2x1"3/4 4275
138 FG03-48 3" 3" GAS 73 106,38 134 61,93 124 50 27 34 17,5 M16x50  5/8x2" 4337
FG03-4840 3" 2"1/2GAS 63 106,38 134 61,93 124 50 27 30 17,5 M16x50  5/8x2" 4337
FG03-56 3"1/2 3"1/2 GAS 89 120,65 152 69,85 136 48 27 34 17,5 M16x50  5/8x2" 4387
34 FG03-5648 3"1/2 3"GAS 73 120,65 152 69,85 136 48 27 34 17,5 M16x50  5/8x2" 4387
FG03-64 4" 4" GAS 99 130,18 162 77,77 146 48 27 34 17,5 M16x50  5/8x2" 4437
6000 psi
FG06-08 1/2"  1/2" GAS 13 40,49 57 18,24 46 36 16 19 9 M8x30 5/16x1"1/4 4075
FG06-0806 1/2"  3/8"GAS 13 40,49 57 18,24 46 36 16 19 9 M8x30 5/16x1"1/4 4075
FG06-12 3/4"  3/4" GAS 19 50,80 7 23,80 59 85) 21 22 11 M10x40 3/8x1"1/2 4100
FG06-1208 3/4"  1/2" GAS 13 50,80 71 23,80 55) 85) 21 22 11 M10x40 3/8x1"1/2 4100
FG06-16 1" 1" GAS 25 57,15 81 27,76 65 42 25 24 13 M12x45 7/16x1"3/4 4131
FG06-1612 1" 3/4" GAS 19 57,15 81 27,76 65 42 25 24 13 M12x45 7/16x1"3/4 4131
414 FG06-20 1"1/4  1"1/4 GAS 32 66,68 95 SING; 78 45 27 25 15 M14x45 1/2x1"3/4 4150
FG06-2016 1"1/4 1" GAS 25 66,68 95 31,75 78 45 27 25 15 M14x45 1/2x1"3/4 4150
FG06-24 1"1/2  1"1/2 GAS 38 79,38 112 36,50 94 50 30 28 17 M16x50  5/8x2" 4187
FG06-2420 1"1/2  1"1/4 GAS 32 79,38 112 36,50 94 50 30 28 17 M16x50  5/8x2" 4187
FG06-32 2" 2" GAS 51 96,82 134 44,45 114 65 &/ 30 21 M20x70 3/4x2"1/2 4225
FG06-3224 2" 1"1/2 GAS 38 96,82 134 44,45 114 65 37 30 21 M20x70 3/4x2"1/2 4225
FG06-40 2"1/2  2"1/2 GAS 63 123,80 180 58,70 152 80 45 32 26 M24x80 - 4275
FG06-48 3" 3" GAS 73 152,40 208 71,40 178 90 55) 40 33 M30x100 - 4337

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange FGO...08
®naHel, B komnnekte ¢ 6ontamu UNC, wanbamu 1 ynnoTHUTENbHbLIM KOX

FGO....08U

Complete flange with UNC screws, waschers and o'ring

®dnaHey B KOMN/eKTe ¢ MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes EGO....08M
Complete flange with metric screws, waschers and o'ring




ITIIn N,
e

LY s u-

| LIt
wi

illl:l" I'I’I

CGO03

Pe3bboBasi otBeTHas
CGO06 yactb dnaHua BSP

BSP Threaded Counter-Flanges

max
pressure | part number

345

276

207

172

173

138

34

414

3000 psi

CG03-08
CG03-0806
CG03-12
CG03-1208
CG03-16
CG03-1612
CG03-20
CG03-2016
CG03-24
CG03-2420
CG03-32
CG03-3224
CG03-40
CG03-4032
CG03-48
CG03-4840
CG03-56
CG03-5648
CG03-64

6000 psi

CG06-08
CG06-0806
CG06-12
CG06-1208
CG06-16
CG06-1612
CG06-20
CG06-2016
CG06-24
CG06-2420
CG06-23
CG06-3224
CG06-40
CG06-48

sizel A | B ] Cc D] E_| F | G | H/[ ]

12"
172"
34"
34"
=
T
1"1/4
1"1/4
1"1/2
1172
=
o
2112
2172
o
=
3172
3172
v

172"
172"
3/4"
3/4"
1
1
1"1/4
1"1/4
1"1/2
1"1/2
on
on
2"1/2
3"

1/2" GAS
3/8" GAS
3/4" GAS
1/2" GAS
1" GAS
3/4" GAS
1"1/4 GAS
1" GAS
1"1/2 GAS
1"1/4 GAS
2" GAS
1"1/2 GAS
2"1/2 GAS
2" GAS
3" GAS
2"1/2 GAS
3"1/2 GAS
3" GAS
4" GAS

1/2" GAS
3/8" GAS
3/4" GAS
1/2" GAS
1" GAS
3/4" GAS
1"1/4 GAS
1" GAS
1"1/2 GAS
1"1/4 GAS
2" GAS
1"1/2 GAS
2"1/2 GAS
3" GAS

13
13
19
13
25
19
32
25
38
32
51
38
63
51
73
63
89
73
99

13
13
19
13
25
19
32
25
38
32
51
38
63
73

38,10
38,10
47,63
47,63
52,37
52,37
58,72
58,72
69,85
69,85
77,77
77,77
88,90
88,90
106,38
106,38
120,65
120,65
130,18

40,49
40,49
50,80
50,80
57,15
57,15
66,68
66,68
79,38
79,38
96,82
96,82
123,80
152,40

57
57
65
65
70
70
79
81
93
95
102
102
114
114
134
134
152
152
162

57
57
71
71
81
81
95
95
112
112
134
134
180
208

17,48
17,48
22,23
22,23
26,19
26,19
30,18
30,18
35,71
35,71
42,88
42,88
50,80
50,80
61,93
61,93
69,85
69,85
77,77

18,24
18,24
23,80
23,80
27,76
27,76
31,75
31,75
36,50
36,50
44,45
44,45
58,70
71,40

46
46
50
50
55
55
68
65
78
78
90
90
105
105
124
124
136
136
146

46
46
55
55
65
65
78
78
94
94
114
114
152
178

Kak 3akasaTb / How to Order:

36
36
36
36
38
35
40
42
45
45
45
45
50
50
50
50
48
48
48

36
36
35
35
42
42
45
45
50
50
65
65
80
90

16
16
18
18
18
21
21
25
25
27
25
25
25
25
27
27
27
27
27

16
16
21
21
25
25
27
27
30
30
37
37
45
55

19
19
19
19
22
19
22
24
24
24
30
26
30
30
34
30
34
34
34

19,0
19,0
22,0
22,0
24,0
24,0
25,0
25,0
28,0
28,0
30,0
30,0
32,0
40,0

M8
M8
M10
M10
M10
M10
M10
M10
M12
M12
M12
M12
M12
M12
M16
M16
M16
M16
M16

M8
M8
M10
M10
M12
M12
M14
M14
M16
M16
M20
M20
M24
M30

OTBeTHas YacTb chnaHua nog coeauHeHne MeTpudeckummn Gontamu

Counter flange with metric tapholes

OtBeTHas YacTb chnaHua nog coeguHeHne Gontamm UNC

Counter flange with UNC tapholes

5/16
5/16
3/8
3/8
3/8
3/8
7116
7116
12
1/2
12
1/2
12
1/2
5/8
5/8
5/8
5/8
5/8

5/16
5/16
3/8
3/8
7116
7/16
12
12
5/8
5/8
3/4
3/4

CGO0...08

CGO0...08U




it ypress [JF S riange.ss g/ imimm.

." i'lll
"onoeka donaHua BSP,
PGO06 nnockas D
Ser .
BSP Threaded Flat Flanges SIRWE 1
% I
I
[FE
“O'Ring !
pressure part number Screws
szel A | c | 0 | E | F | _H | L __]Metic| Unc_|type]
3000 psi
345 PG03-12 3/4"  3/4" GAS 47,63 65 22,23 50 15 11 M10x35 3/8x1"1/2 4100
PG03-1208 3/4"  1/2" GAS 47,63 65 22,23 50 15 11 M10x35 3/8x1"1/2 4100
300 PG03-16 1" 1" GAS 52,37 70 26,19 60 19 11 M10x35 3/8x1"1/2 4131
PG03-1612 1" 3/4" GAS 52,37 70 26,19 60 19 11 M10x35 3/8x1"1/2 4131
276 PG03-20 1"1/4  1"1/4 GAS 58,72 79 30,18 68 19 11,5 M10x40 7/16x1"3/4 4150
PG03-2016 1"1/4  1"GAS 58,72 79 30,18 68 19 11,5 M10x40 7/16x1"3/4 4150
PG03-24 1"1/2  1"1/2 GAS 69,85 93 35,71 78 19 13,5 M12x45 1/2x1"3/4 4187
207 PG03-2420 1"1/2  1"1/4 GAS 69,85 93 35,71 78 19 13,5 M12x45 1/2x1"3/4 4187
PG03-32 2" 2" GAS 77,77 102 42,88 90 19 13,5 M12x45 1/2x1"3/4 4225
PG03-3224 2" 1"1/2 GAS 77,77 102 42,88 90 19 13,5 M12x45 1/2x1"3/4 4225
172 PG03-40 2"1/2  2"1/2 GAS 88,90 114 50,80 105 19 13,5 M12x45 1/2x1"3/4 4275
PG03-4032 2"1/2  2"GAS 88,90 114 50,80 105 19 13,5 M12x45 1/2x1"3/4 4275
138 PG03-48 & 3" GAS 106,38 134 61,83 124 23 17,5 M16x50  5/8x2" 4337
PG03-4840 3" 2"1/2GAS 106,38 134 61,83 124 23 17,5 M16x50  5/8x2" 4337
PG03-56 3"1/2  3"1/2 GAS 120,65 152 69,85 136 21 17,5 M16x50  5/8x2" 4387
34 PG03-5648 3"1/2  3"GAS 120,65 152 69,85 136 21 17,5 M16x50 5/8x2" 4387
PG03-64 4" 4" GAS 130,18 162 77,77 146 24 17,5 M16x50  5/8x2" 4437
PG03-6456 4" 3"1/2 GAS 130,18 162 77,77 146 24 17,5 M16x50  5/8x2" 4437
6000 psi
PG06-12 3/4"  3/4" GAS 50,80 71 23,80 60 19 11 M10x35 3/8x1"1/2 4100
PG06-1208 3/4"  1/2" GAS 50,80 71 23,80 60 19 11 M10x35 3/8x1"1/2 4100
PG06-16 1" 1" GAS 57,15 81 27,76 70 23 13 M12x45 7/16x1"3/4 4131
PG06-1612 1" 3/4" GAS 57,15 81 27,76 70 23 13 M12x45 7/16x1"3/4 4131
414 PG06-20 1"1/4  1"1/4 GAS 66,68 95 31,75 78 26 15 M14x45 1/2x1"3/4 4150
PG06-2016 1"1/4 1" GAS 66,68 95 31,75 78 26 15 M14x45 1/2x1"3/4 4150
PG06-24 1"1/2  1"1/2 GAS 79,38 112 36,50 94 29 17 M16x50 5/8x2" 4187
PG06-2420 1"1/2  1"1/4 GAS 79,38 112 36,50 94 29 17 M16x50 5/8x2" 4187
PG06-32 2" 2" GAS 96,82 134 44,45 114 28 21 M20x60 3/4x2"1/2 4225
PG06-4024 1"1/2  1"1/2 GAS 96,82 134 44,45 114 28 21 M20x60 3/4x2"1/2 4225
Kak 3akasatb / How to Order:
Tonbko conare / Only Flange PGO...12
®naHey B komnsekte ¢ Gontamn UNC, waiitbamm 1 ynnoTHNTENbHbIM KOS
Complete flange with UNC screws, waschers and o'ring PGO....12U
®naHel| B KOMMIEKTE C METPUUECKUMM BONTamy, Wwanbamu 1 ynnoTHUTe) PGO...12M

Complete flange with metric screws, waschers and o'ring




ITIIn N,

FiiaE 8 fm “.

DGO03
DGO06

“ﬂ_ﬂ-_ﬂ“ﬂ-

345

276

207

172

138

34

414

MapHbin ®naHey, pe3bba BSP

BSP Threaded Double Flanges

3000 psi

DG03-08
DG03-0806
DG03-12
DG03-1208
DG03-16
DG03-1612
DG03-20
DG03-2016
DGO03-24
DG03-2420
DGO03-32
DG03-3224
DGO03-40
DG03-4032
DG03-48
DG03-4840
DGO03-56
DG03-5648
DGO03-64
DG03-6456

6000 psi

DG06-08
DG06-0806
DG06-12
DG06-1208
DG06-16
DG06-1612
DG06-20
DG06-2016
DG06-24
DG06-2420
DG06-32
DG06-3224

12"
172"
34"
34"
i
T
11/4
1"1/4
1"1/2
1172
=
5
2112
2112
=
o
3172
3172
T
o

172"
172"
3/4"
3/4"
T
1
1"1/4
1"1/4
1"1/2
1"1/2
on
on

1/2" GAS
3/8" GAS
3/4" GAS
1/2" GAS
1" GAS
3/4" GAS
1"1/4 GAS
1" GAS
1"1/2 GAS
1"1/4 GAS
2" GAS
1"1/2 GAS
2"1/2 GAS
2" GAS
3" GAS
2"1/2 GAS
3"1/2 GAS
3" GAS
4" GAS
3"1/2 GAS

1/2" GAS
3/8" GAS
3/4" GAS
1/2" GAS
1" GAS
3/4" GAS
1"1/4 GAS
1" GAS
1"1/2 GAS
1"1/4 GAS
2" GAS
1"1/2 GAS

13
13
19
13
25
19
32
25
38
32
51
38
63
51
73
63
89
73
99
89

13
13
19
13
25
19
32
25
38
32
51
38

38,10
38,10
47,63
47,63
52,37
52,37
58,72
58,72
69,85
69,85
77,77
77,77
88,90
88,90
106,38
106,38
120,65
120,65
130,18
130,18

40,49
40,49
50,80
50,80
57,15
57,15
66,68
66,68
79,38
79,38
96,82
96,82

57
57
65
65
70
70
79
81
93
95
102
102
114
114
134
134
152
152
162
162

57
57
71
71
81
81
95
95
112
112
134
134

&

|

17,48
17,48
22,23
22,23
26,19
26,19
30,18
30,18
35,71
35,71
42,88
42,88
50,80
50,80
61,93
61,93
69,85
69,85
77,77
77,77

18,24
18,24
23,80
23,80
27,76
27,76
31,75
31,75
36,50
36,50
44,45
44,45

46
46
50
50
55
55
68
65
78
78
90
90
105
105
124
124
136
136
146
146

46
46
55
55
65
65
78
78
94
94
114
114

Kak 3akasaTb / How to Order:

LY Ring

72
72
72
72
46
70
82
84
90
90
90
90
100
100
100
100
96
96
96
96

72
72
70
70
84
84
90
90
100
100
130
130

32
32
36
36
36
42
42
50
50
54
50
50
50
50
54
54
54
54
54
54

32
32
42
42
50
50
54
54
60
60
74
74

19
19
19
19
22
19
22
24
24
24
30
26
30
30
34
30
34
34
34
34

19
19
19
19
22
22
23
23
26
26
30
30

Screws

M8x30
M8x30
M10x35
M10x35
M10x40
M10x40
M10x40
M12x45
M12x45
M12x45
M12x45
M12x45
M12x45
M16x50
M16x50
M16x50
M16x50
M16x50
M16x50
M16x50

M8x30
M8x30
M10x40
M10x40
M12x45
M12x45
M14x45
M14x45
M16x50
M16x50
M20x70
M20x70

5/16x1"1/4
5/16x1"1/4
3/8x1"1/2
3/8x1"1/2
3/8x1"1/2
3/8x1"1/2
7/16x1"3/4
7/16x1"3/4
1/2x1"3/4
1/2x1"3/4
1/2x1"3/4
1/2x1"3/4
1/2x1"3/4
1/2x1"3/4
5/8"x2
5/8"x2
5/8"x2
5/8"x2
5/8"x2
5/8"x2

5/16x1"1/4
5/16x1"1/4
3/8x1"1/2
3/8x1"1/2
7/16x1"3/4
7/16x1"3/4
1/2x1"3/4
1/2x1"3/4
5/8"x2
5/8"x2
3/4x2"1/2
3/4x2"1/2

MapHeIi hnaHel, B KOMNNeKTe ¢ MeTpuieckumm Gontamu, wanbamu n yn DGO...08
Complete double flange with metrical screws, waschers and o-ring

4075
4075
4100
4100
4131
4131
4150
4150
4187
4187
4225
4225
4275
4275
4337
4337
4387
4387
4437
4437

4075
4075
4100
4100
4131
4131
4150
4150
4187
4187
4225
4225

MapHeint onarel, B komnnekte ¢ 6ontamu UNC, wanbamu u ynnotHuten! DGO...08U
Complete double flange with UNC screws, waschers and o-ring




ITIIn N,

iy s 'fPl'ESS ". :"f m::fﬂ.fr‘:

NGOG oneka dnaHua pesbbosoro, BSP, 90°
BSP Threaded 90° Flanges
Ecrews
z i
(T}
[T
=
L}
pressure part number Screws
sizel A |Bl ¢ [D] E JFIG[HJ] I | L[N[Metic| Unc [type
3000 psi
NG03-08 1/2"  1/2"GAS 13 38,10 54 17,48 60 20 16 19 9 37 M8x30 5/16x1"1/4 4075
NG03-0806 1/2"  3/8"GAS 13 38,10 54 17,48 60 20 16 19 9 37 M8x30 5/16x1"1/4 4075
345 NG03-12 3/4"  3/4" GAS 19 47,63 65 22,23 63 24 18 19 11 38 M10x35 3/8x1"1/2 4100
NG03-1208 3/4"  1/2" GAS 19 47,63 65 22,23 63 24 18 19 11 38 M10x35 3/8x1"1/2 4100
NG03-16 1" 1" GAS 25 52,37 70 26,19 70 28 19 20 11 43 M10x35 3/8x1"1/2 4131
NG03-1612 1" 3/4" GAS 25 52,37 70 26,19 70 28 19 20 11 43 M10x40 3/8x1"1/2 4131
276 NG03-20 1"1/4  1"1/4 GAS 32 58,72 79 30,18 85 34 21 22 11,5 51 M10x40 7/16x1"3/4 4150
NG03-2016 1"1/4  1"GAS 32 58,72 79 30,18 85 34 21 22 11,5 51 M10x40 7/16x1"3/4 4150
NG03-24 1"1/2  1"1/2 GAS 38 69,85 93 35,71 95 38 25 25 13,5 56 M12x45 1/2x1"3/4 4187
207 NGO03-2420 1"1/2  1"1/4 GAS 38 69,85 93 35,71 95 38 25 25 13,5 56 M12x45 1/2x1"3/4 4187
NG03-32 2" 2" GAS 51 77,77 110 42,88 110 42 25 28 13,5 65 M12x45 1/2x1"3/4 4225
NGO03-3224 2" 1"1/2GAS 51 77,77 110 42,88 110 42 25 28 13,5 65 M12x45 1/2x1"3/4 4225
6000 psi
NG06-08 1/2"  1/2" GAS 13 40,49 54 18,24 60 20 16 19 9 37 M8x30 5/16x1"1/4 4075
NG06-0806 1/2"  3/8" GAS 13 40,49 54 18,24 60 20 16 19 9 37 M8x30 5/16x1"1/4 4075
NG06-12 3/4"  3/4" GAS 19 50,80 70 23,80 70 28 19 20 11 43 M10x35 3/8x1"1/2 4100
NG06-1208 3/4"  1/2" GAS 19 50,80 70 23,80 70 28 19 20 11 43 M10x35 3/8x1"1/2 4100
NG06-16 1" 1" GAS 25 57,15 79 27,76 85 34 21 22 13 51  M12x45 7/16x1"3/4 4131
414 NG06-1612 1" 3/4" GAS 25 57,15 79 27,76 85 34 21 22 13 51 M12x45 7/16x1"3/4 4131
NG06-20 1"1/4  1"1/4 GAS 32 66,68 93 31,75 95 38 25 25 15 56 M14x45 1/2x1"3/4 4150
NG06-2016 1"1/4 1" GAS 32 66,68 93 31,75 95 38 25 25 15 56 M14x45 1/2x1"3/4 4150
NG06-24 1"1/2  1"1/2 GAS 38 79,38 110 36,50 110 42 25 28 17 65 M16x50 5/8x2" 4187
NG06-2420 1"1/2  1"1/4 GAS 38 79,38 110 36,50 110 42 25 28 17 65 M16x50 5/8x2" 4187
NG06-32 2" 2" GAS 51 96,82 134 44,45 132 45 35 33 21 75 M20x70 3/4x2"1/2 4225
NG06-3224 2" 1"1/2 GAS 51 96,82 134 44,45 132 45 35 33 21 75 M20x70 3/4x2"1/2 4225
Kak 3aka3aTb / How to Order:
Tonbko conare / Only Flange NGO...08

®naHey B komnsekte ¢ Gontamn UNC, waiitbamm 1 ynnoTHNTENbHbIM KOS NGO....08U
Complete flange with UNC screws, waschers and o'ring

®naHeL| B KOMNIEKTE C METPUYECKUMU GonTamu, Wwaiibamu 1 ynnoTHuTes NGO....08M
Complete flange with metric screws, waschers and o'ring




iHypess || T — ] 1M,

BGO6 oneka dnaHua pesbbosoro, BSP, 90°
BSP Threaded 90° Flanges W S - 5]
Screws G l_ c =
L1 -
- | f"@'
- o
—r 1
- W)L
: Y \"\ r/)
R
o =
F D +
max
pressure | part number
|__bar | sicel . A | BJ] c D] E JFJ]GJHJ] I ] LJNIJ O | Meti|type
3000 psi
345 BG03-12 3/4"  3/4" GAS 19 47,63 66 22,23 46 19 27 19 11 28 48 M10x45 4100
BG03-16 1" 1" GAS 25 52,37 7 26,19 55) 22 34 19 11 32 50 M10x50 4131
276 BG03-20 1"1/4  1"1/4 GAS 32 58,72 81 30,18 65 27 42 22 12 35 60 M10x60 4150
207 BG03-24 1"1/2  1"1/2 GAS 38 69,85 95 35,71 75 32 50 24 14 42 70 M12x70 4187
BG03-32 2" 2" GAS 51 77,77 112 42,88 90 40 63 26 14 50 80 M12x80 4225
172 BG03-40 2"1/2  2"1/2 GAS 63 88,90 120 50,80 120 53 99 30 14 - - - 4275
6000 psi
BG06-12 3/4"  3/4" GAS 19 50,80 7 23,80 55) 22 34 22 11 32 50 M10x50 4100
414 BG06-16 1" 1" GAS 25 57,15 81 27,76 65 27 42 24 13 35 60 M12x60 4131
BG06-20 1"1/4  1"1/4 GAS 32 66,68 95 31,75 75 32 50 25 15 42 70 M14x70 4150
BG06-24 1/2 1"12GAS 38 7938 112 3650 90 40 63 28 17 50 80  M16xe0 4187

Kak 3akasaTtb / How to Order:
Tonbko conare / Only Flange BGO0...08

®dnaHey B KOMMNeKTe ¢ MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes BGO....08M
Complete flange with metric screws, waschers and o'ring




wr
THy Yl rmimm
FDG3 ®naHey pesbbosomn, BSP 60°
FDG6 D
G
60° Tapered seat BSP threaded flanges Serews
|
i
vl WAy
%

max Viti
pressure | part number Screws

345

276

207

414

sizel A | B ] c [ D] E | F |Gl H/|L] S [Metric| Unc liype

3000 psi

FDG3-08 1/2"  1/2" GAS 12 38,10 54 17,48 46 52 13 9,0 17,5 M8x30 5/16x1"1/4 4075
FDG3-0806 1/2"  3/8" GAS 9 38,10 54 17,48 46 52 13 9,0 14,0 M8x30 5/16x1"1/4 4075
FDG3-12 3/4"  3/4" GAS 17 47,63 65 22,23 50 60 14 11,5 22,9 M10x35 3/8x1"1/2 4100
FDG3-1208 3/4"  1/2" GAS 12 47,63 65 22,23 50 60 14 115 17,5 M10x35 3/8x1"1/2 4100
FDG3-16 1" 1" GAS 22 52,37 70 26,19 59 63 16 11,5 28,7 M10x35 3/8x1"1/2 4131
FDG3-1612 1" 3/4" GAS 17 52,37 70 26,19 55) 63 16 11,5 22,9 M10x40 3/8x1"1/2 4131
FDG3-20 1"1/4  1"1/4 GAS 29 58,72 79 30,18 68 65 14 115 36,8 M10x35 7/16x1"3/4 4150
FDG3-2016 1"1/4 1" GAS 22 58,72 79 30,18 68 65 14 11,5 28,7 M10x35 7/16x1"3/4 4150
FDG3-24 1"1/2  1"1/2 GAS 34 69,85 94 35,71 78 70 16 13,5 42,7 M12x35 1/2x1"3/4 4187
FDG3-2420 1"1/2  1"1/4 GAS 29 69,85 94 35,71 78 70 16 13,5 36,8 M12x35 1/2x1"3/4 4187
6000 psi

FDG6-08 1/2"  1/2" GAS 12 40,49 56 18,24 48 60 16 9 17,5 M8x30 5/16x1"1/4 4075
FDG6-0806 1/2"  3/8"GAS 9 40,49 56 18,24 48 60 16 9 14,0 M8x30 5/16x1"1/5 4075
FDG6-12 3/4"  3/4" GAS 17 50,80 7 23,80 60 73 19 12 22,9 M10x40 3/8x1"1/2 4100
FDG6-1208 3/4"  1/2" GAS 12 50,80 71 23,80 60 73 19 12 17,5 M10x40 3/8x1"1/3 4100
FDG6-16 1" 1" GAS 22 57,15 81 27,76 70 82 24 13 28,7 M12x45 7/16x1"3/4 4131
FDG6-1612 1" 3/4" GAS 17 57,15 81 27,76 70 82 24 13 22,9 M12x45 7/16x1"3/5 4131
FDG6-20 1"1/4  1"1/4 GAS 29 66,68 95 31,75 78 92 27 15 36,8 M14x45 1/2x1"3/4 4150
FDG6-2016 1"1/4 1" GAS 22 66,68 95 31,75 78 92 27 15 28,7 M14x45 1/2x1"3/5 4150
FDG6-24 1"1/2  1"1/2 GAS 34 79,38 113 36,50 95 96 30 17 42,7 M16x50  5/8x2" 4187
FDG6-2420 1"1/2  1"1/4 GAS 29 79,38 113 36,50 95 96 30 17 36,8 M16x50  5/8x2" 4187

Kak 3akasaTb / How to Order:

Tonbko conare / Only Flange FDG...08

®naHel, B komnnekte ¢ 6ontamu UNC, wanbamu 1 ynnoTHUTENbHbLIM KOX
FDG....08U

Complete flange with UNC screws, waschers and o'ring

®dnaHey B KOMN/eKTe ¢ MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes EDG....08M
Complete flange with metric screws, waschers and o'ring

10 -1



Mk ypress || S . 2l mimm.

NOG3 ®naHey pesbboson 90°, BSP
NOG6 60° o - b -

SCrews

90° Flanges with 60° tapered seat and BSP
thread

part number “ Screws m

sizel A | 8B | c|DJ] E | F |G| H/|L|N/[S |[Metiocl U liypel

3000 psi
N0G3-08 1/2"  1/2" GAS 11,5/13 38,10 54 17,48 61 20 16 9 38 17,5 MB8x30 5/16x1"1/4 4075
345 N0G3-0806 1/2"  3/8" GAS 85/13 38,10 54 17,48 61 20 16 9 38 14,0 M8x30 5/16x1"1/4 4075
N0G3-12 3/4"  3/4" GAS 17/19 47,63 65 22,23 64 24 18 11 39 22,9 M10x35 3/8x1"1/2 4100
N0G3-16 1" 1" GAS 22/25 52,37 70 26,19 70 28 19 11 43 28,7 M10x35 3/8x1"1/2 4131
276  N0G3-20 1"1/4  1"1/4 GAS 28,5/32 5872 79 30,18 85 34 21 12 51 36,8 M10x35 7/16x1"3/4 4150
207 NO0G3-24 1"1/2  1"1/2 GAS 34 /38 69,85 93 35,71 96 38 25 14 56 42,7 M12x35 1/2x1"3/4 4187
6000 psi
N0G6-0808 1/2"  1/2" GAS 11,5/13 40,49 54 18,24 61 20 16 9 38 18  M8x30 5/16x1"1/4 4075
N0G6-0806 1/2"  3/8" GAS 8,5/13 40,49 54 18,24 61 20 16 9 38 14  M8x30 5/16x1"1/4 4075
414 N0G6-12 3/4"  3/4" GAS 17/19 50,80 70 23,80 70 28 19 11 43 23 M10x40 3/8x1"1/2 4100
N0G6-16 1" 1" GAS 22/25 57,15 79 27,76 85 34 21 13 51 29 M12x45 7/16x1"3/4 4131
N0G6-20 1"1/4  1"1/4 GAS 285/32 66,68 93 31,75 96 38 25 15 56 37 M14x45 1/2x1"3/4 4150
N0G6-24 1"1/2  1"1/2 GAS 34/38 79,38 110 36,50 110 42 25 17 65 43 M16x50 5/8x2" 4187

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange NOG...08
®naHey B komnsekte ¢ Gontamn UNC, waiitbamm 1 ynnoTHNTENbHbIM KOS

NOG....08U

Complete flange with UNC screws, waschers and o'ring

®naHeL| B KOMNIEKTE C METPUYECKUMU GonTamu, Wwaiibamu 1 ynnoTHuTes NOG....08M
Complete flange with metric screws, waschers and o'ring

11 -1



iHypess || T — ] 1M,

FDD3 y
®naHey pe3bboBoK, MeTpuka
FDD6 DIN 2353

DIN 2353 Metric threaded flanges

max Viti
pressure | part number

sizel A | B ] c | D] E | F |G| H]| I [ L[S |Meticl| Unc liype

3000 psi

FDD3-08 1/2"  M22x1,5 12 38,10 54 17,48 46 52 13 7 9,0 15  M8x30 5/16x1"1/4 4075
345 FDD3-12 3/4" M30x2 19 47,63 65 22,23 50 60 14 8 11,5 22 M10x30 3/8x1"1/2 4100

FDD3-16 1" M36x2 24 52,37 70 26,19 59 63 16 8 11,5 28 M10x35 3/8x1"1/2 4131
276  FDD3-20 1"1/4 M45x2 29 58,72 79 30,18 68 65 14 11 11,5 35 M10x35 7/16x1"3/4 4150
207 FDD3-24 1"1/2 M52x2 36 69,85 94 35,71 78 70 16 11 13,56 42 M12x35 1/2x1"3/4 4187

6000 psi

FDD6-0808 1/2"  M24x1,5 12 40,49 56 18,24 48 60 16 9 9,0 16 M8x30 5/16x1"1/4 4075

FDD6-12 3/4" M36x2 19 50,80 7 23,80 60 73 19 12 11,5 25 M10x40 3/8x1"1/2 4100
414  FDD6-16 1" M42x2 25 57,15 81 27,76 70 82 24 14 13,0 30 M12x45 7/16x1"3/4 4131

FDD6-20 1"1/4 M52x2 29 66,68 95 31,75 78 92 27 16 15,0 38 M14x45 1/2x1"3/4 4150

FDD6-24 1"1/2  M52x2 32 79,38 113 36,50 95 96 30 16 17,0 38 M16x50 5/8x2" 4187

Kak 3akasaTb / How to Order:
Tonbko cnaneu, / Only Flange FDD...08
dnaHey B komnnekTe ¢ 6Gontamu UNC, waibamu 1 ynnoTHUTENbHbLIM KO

' FDD....08U

Complete flange with UNC screws, waschers and o'ring

®dnaHey B KOMN/eKTe ¢ MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes EDD....08M
Complete flange with metric screws, waschers and o'ring

12 -1



ke |1 T — || 1320

NOD3 y
dnaHey pe3bboBon 90°, ” o
NOD6 wmetpuka DIN 2353 7 [ i
Screws I |
DIN 2353 Metric threaded 90° flanges
[1¥]
—Il &
i
pressure part number Screws

sizel A | B Cc [ DJ]E]F]G/LH] I | L|N/[S |[Metcl Uc liypel

3000 psi

NOD3-08 1/2"  M22x1,5 12 38,10 54 17,48 60 20 16 7,0 90 37 15  M8x30 5/16x1"1/4 4075
345 NOD3-12 3/4" M30x2 19 47,63 65 22,23 65 24 18 75 11,0 40 22 M10x35 3/8x1"1/2 4100

NOD3-16 1" M36x2 25 52,37 70 26,19 70 28 19 12,0 11,0 43 28 M10x35 3/8x1"1/2 4131
276  NOD3-20 1"1/4 M45x2 32 58,72 79 30,18 86 34 21 105 11,5 52 35 M10x40 7/16x1"3/4 4150
207 NOD3-24 1"1/2 M52x2 38 69,85 93 3571 95 38 25 11,0 135 56 42  M12x45 1/2x1"3/4 4187

6000 psi

NOD6-08 1/2"  M24x1,5 12 40,49 54 18,24 60 20 16 85 9 37 16 M8x30 5/16x1"1/4 4075

NOD6-12 3/4" M36x2 19 50,80 70 23,80 70 28 19 12,0 11 43 25 M10x35 3/8x1"1/2 4100
414  NOD6-16 1" M42x2 25 57,15 79 27,76 85 34 21 135 13 52 30 M12x45 7/16x1"3/4 4131

NO0D6-20 1"1/4 M52x2 32 66,68 93 31,75 95 38 25 16,0 15 56 38 M14x45 1/2x1"3/4 4150

NOD6-24 1"1/2  M52x2 38 79,38 110 36,50 110 42 25 16,0 17 65 38 M16x50 5/8x2" 4187

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange NOD...08
®naHey B komnsekte ¢ Gontamn UNC, waiitbamm 1 ynnoTHNTENbHbIM KOS

' NOD....08U

Complete flange with UNC screws, waschers and o'ring

®naHeL| B KOMNIEKTE C METPUYECKUMU GonTamu, Wwaiibamu 1 ynnoTHuTes NOD....08M
Complete flange with metric screws, waschers and o'ring

13 -1



ITIIn N,
FiiEN N

rw
by s

FNO3
FNO6

max
pressure | part number

345

276

207

172

138
34

414

dnaHeu pesbboson, NPT

dnaHey pesbbosow, NPT

3000 psi

FN03-08
FN03-0806
FN03-12
FN03-1208
FNO03-16
FNO03-1612
FN03-20
FN03-2016
FN03-24
FN03-2420
FN03-23
FN03-3224
FN03-40
FNO03-48
FN03-56
FN03-64

6000 psi

FN06-08
FN06-0806
FN06-12
FN06-1208
FN06-16
FN06-1612
FN06-20
FN06-2016
FN06-24
FN06-2420
FN06-32
FN06-3224
FN06-40
FN06-48

12"
112"
34"
34"
e
=
1"1/4
1"1/4
1"1/2
1"1/2
B
=
2112
=
3172
T

172"
172"
3/4"
3/4"
o
1
1"1/4
1"1/4
1"1/2
1"1/2
on
on
2"1/2
3"

1/2" NPT
3/8" NPT
3/4" NPT
1/2" NPT
1" NPT
3/4" NPT
1"1/4 NPT
1" NPT
1"1/2 NPT
1"1/4 NPT
2" NPT
1"1/2 NPT
2"1/2 NPT
3" NPT
3"1/2 NPT
4" NPT

1/2" NPT
3/8" NPT
3/4" NPT
1/2" NPT
1" NPT
3/4" NPT
1"1/4 NPT
1" NPT
1"1/2 NPT
1"1/4 NPT
2" NPT
1"1/2 NPT
2"1/2 NPT
3" NPT

13
13
19
13
25
19
32
25
38
32
51
38
63
73
89
99

13
13
19
13
25
19
32
25
38
32
51
38
63
73

Screws

38,10
38,10
47,63
47,63
52,37
52,37
58,72
58,72
69,85
69,85
77,77
77,77
88,90
106,38
120,65
130,18

40,49
40,49
50,80
50,80
57,15
57,15
66,68
66,68
79,38
79,38
96,82
96,82
123,80
152,40

57
57
65
65
70
70
79
81
93
95
102
102
114
134
152
162

57
57
71
71
81
81
95
95
112
112
134
134
180
208

17,48
17,48
22,23
22,23
26,19
26,19
30,18
30,18
35,71
35,71
42,88
42,88
50,80
61,93
69,85
77,77

18,24
18,24
23,80
23,80
27,76
27,76
31,75
31,75
36,50
36,50
44,45
44,45
58,70
71,40

46 36 16 19
46 36 16 19
50 36 18 19
50 36 18 19
55 38 18 22
55 35 21 19
68 41 21 22
65 42 25 24
78 45 25 24
78 45 27 24
90 45 25 30
90 45 25 26
105 50 25 30
124 50 27 34
136 48 27 34
146 48 27 34

46 36 16 19
46 36 16 19
55 35 21 22
55 35 21 22
65 42 25 24
65 42 25 24
78 45 27 25
78 45 27 25
94 50 30 28
94 50 30 28
114 65 37 30
114 65 37 30
152 80 45 32
178 90 55 40

Kak 3akasatb / How to Order:

Tonbko cnaneu, / Only Flange

11
11
11
11
11,5
11,5
13,5
13,5
13,5
13,5
13,5
17,5
17,5
17,5

11
11
13
13
15
15
17
17
21
21
26
33

sizel A | B Cc | D] E | F |G| H] I | L [Metic] Unc_ |iypel

M8x30
M8x30
M10x35
M10x35
M10x35
M10x40
M10x40
M10x40
M12x45
M12x45
M12x45
M12x45
M12x45
M16x50
M16x50
M16x50

M8x30
M8x30
M10x40
M10x40
M12x45
M12x45
M14x45
M14x45
M16x50
M16x50
M20x70
M20x70
M24x80
M30x100

5/16x1"1/4
5/16x1"1/4
3/8x1"1/2
3/8x1"1/2
3/8x1"1/2
3/8x1"1/2
7/16x1"3/4
7/16x1"3/4
1/2x1"3/4
1/2x1"3/4
1/2x1"3/4
1/2x1"3/4
1/2x1"3/4
5/8x2"
5/8x2"
5/8x2"

5/16x1"1/4
5/16x1"1/4
3/8x1"1/2
3/8x1"1/2
7/16x1"3/4
7/16x1"3/4
1/2x1"3/4
1/2x1"3/4
5/8x2"
5/8x2"
3/4x2"1/2
3/4x2"1/2

FNO...08

4075
4075
4100
4100
4131
4131
4150
4150
4187
4187
4225
4225
4275
4337
4387
4437

4075
4075
4100
4100
4131
4131
4150
4150
4187
4187
4225
4225
4275
4337

®naHel, B komnnekte ¢ 6ontamu UNC, wanbamu 1 ynnoTHUTENbHbLIM KOX
FNO....08U

Complete flange with UNC screws, waschers and o'ring

®dnaHey B KOMN/eKTe ¢ MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes
FNO....08M

Complete flange with metric screws, waschers and o'ring

14 -1



ITIIn N,
e

LY s u-

Bl e
wii

l'lll:l" i"l

CNO3
CNO6

OTtBeTHada yacTb (hnaHua,

NPT

NPT Threaded Counter-Flanges

max
pressure | part number

345

276

207

172

138
34

414

3000 psi

CNO03-08
CN03-0806
CNO03-12
CN03-1208
CNO03-16
CN03-1612
CNO03-20
CN03-2016
CNO03-24
CN03-2420
CNO03-32
CN03-3224
CNO03-40
CN03-48
CNO03-56
CNO03-64

6000 psi

CN06-08
CN06-0806
CN06-12
CN06-1208
CN06-16
CN06-1612
CN06-20
CN06-2016
CN06-24
CN06-2420
CN06-32
CN06-3224
CN06-40
CN06-48

sizel A | B ] Cc D] E_| F | G | H/[ ]

12"
112"
34"
34"
e
=
1"1/4
1"1/4
1"1/2
1"1/2
B
=
2112
=
3172
T

172"
172"
3/4"
3/4"
o
1
1"1/4
1"1/4
1"1/2
1"1/2
on
on
2"1/2
3"

1/2" NPT
3/8" NPT
3/4" NPT
1/2" NPT
1" NPT
3/4" NPT
1"1/4 NPT
1" NPT
1"1/2 NPT
1"1/4 NPT
2" NPT
1"1/2 NPT
2"1/2 NPT
3" NPT
3"1/2 NPT
4" NPT

1/2" NPT
3/8" NPT
3/4" NPT
1/2" NPT
1" NPT
3/4" NPT
1"1/4 NPT
1" NPT
1"1/2 NPT
1"1/4 NPT
2" NPT
1"1/2 NPT
2"1/2 NPT
3" NPT

13
13
19
13
25
19
32
25
38
32
51
38
63
73
89
99

13
13
19
13
25
19
32
25
38
32
51
38
63
73

38,10
38,10
47,63
47,63
52,37
52,37
58,72
58,72
69,85
69,85
77,77
77,77
88,90
106,38
120,65
130,18

40,49
40,49
50,80
50,80
57,15
57,15
66,68
66,68
79,38
79,38
96,82
96,82
123,80
152,40

57
57
65
65
70
70
79
81
93
95
102
102
114
134
152
162

57
57
71
71
81
81
95
95
112
112
134
134
180
208

17,48
17,48
22,23
22,23
26,19
26,19
30,18
30,18
35,71
35,71
42,88
42,88
50,80
61,93
69,85
77,77

18,24
18,24
23,80
23,80
27,76
27,76
31,75
31,75
36,50
36,50
44,45
44,45
58,70
71,40

46
46
50
50
55
55
68
65
78
78
90
90
105
124
136
146

46
46
55
55
65
65
78
78
94
94
114
114
152
178

Kak 3akasaTb / How to Order:

36
36
36
36
38
35
41
42
45
45
45
45
50
50
48
48

36
36
35
35
42
42
45
45
50
50
65
65
80
90

16
16
18
18
18
21
21
25
25
27
25
25
25
27
27
27

16
16
21
21
25
25
27
27
30
30
37
37
45
55

19
19
19
19
22
19
22
24
24
24
30
26
30
34
34
34

19
19
22
22
24
24
25
25
28
28
30
30
32
40

M8
M8
M10
M10
M10
M10
M10
M10
M12
M12
M12
M12
M12
M16
M16
M16

M8
M8
M10
M10
M12
M12
M14
M14
M16
M16
M20
M20
M24
M30

OTBeTHas YacTb chnaHua nog coeauHeHne MeTpudeckummn Gontamu

Counter flange with metric tapholes

OtBeTHas YacTb chnaHua nog coeguHeHne Gontamm UNC
Counter flange with UNC tapholes

5/16
5/16
3/8
3/8
3/8
3/8
7116
7116
12
12
12
12
12
5/8
5/8
5/8

5/16
5/16
3/8
3/8
7/16
7116
12
12
5/8
5/8
3/4
3/4

CNO...08

CNO...08U

15 -1



ITIIn N,
FiiEN N

LY s u-

DNO3
DNO06

“ﬂ_ﬂ—ﬂ“ﬂ—

345

276

207

172

138
34

414

MapHbIn donaHey, NPT

NPT Threaded Double Flanges

3000 psi

DN03-08
DN03-0806
DN03-12
DN03-1208
DN03-16
DN03-1612
DN03-20
DNO03-2016
DN03-24
DN03-2420
DN03-32
DN03-3224
DN03-40
DN03-48
DN03-56
DNO03-64

6000 psi

DN06-08
DN06-0806
DN06-12
DN06-1208
DN06-16
DN06-1612
DN06-20
DN06-2016
DN06-24
DN06-2420
DN06-32
DN06-3224
DN06-40
DN06-48

12"
112"
34"
34"
e
=
1"1/4
1"1/4
1"1/2
1"1/2
B
=
2112
=
3172
T

172"
172"
3/4"
3/4"
o
1
1"1/4
1"1/4
1"1/2
1"1/2
on
on
2"1/2
3"

1/2" NPT
3/8" NPT
3/4" NPT
1/2" NPT
1" NPT
3/4" NPT
1"1/4 NPT
1" NPT
1"1/2 NPT
1"1/4 NPT
2" NPT
1"1/2 NPT
2"1/2 NPT
3" NPT
3"1/2 NPT
4" NPT

1/2" NPT
3/8" NPT
3/4" NPT
1/2" NPT
1" NPT
3/4" NPT
1"1/4 NPT
1" NPT
1"1/2 NPT
1"1/4 NPT
2" NPT
1"1/2 NPT
2"1/2 NPT
3" NPT

13
13
19
13
25
19
32
25
38
32
51
38
63
73
89
99

13
13
19
13
25
19
32
25
38
32
51
38
63
73

38,10
38,10
47,63
47,63
52,37
52,37
58,72
58,72
69,85
69,85
77,77
77,77
88,90
106,38
120,65
130,18

40,49
40,49
50,80
50,80
57,15
57,15
66,68
66,68
79,38
79,38
96,82
96,82
123,80
152,40

57
57
65
65
70
70
79
81
93
95
102
102
114
134
152
162

57
57
71
71
81
81
95
95
112
112
134
134
180
208

17,48
17,48
22,23
22,23
26,19
26,19
30,18
30,18
35,71
35,71
42,88
42,88
50,80
61,93
69,85
77,77

18,24
18,24
23,80
23,80
27,76
27,76
31,75
31,75
36,50
36,50
44,45
44,45
58,70
71,40

46
46
50
50
55
55
68
65
78
78
90
90
105
124
136
146

46
46
55
55
65
65
78
78
94
94
114
114
152
178

\O'Ring

72
72
70
70
84
84
90
90
100
100
130
130
160
180

32
32
36
36
36
42
42
50
50
54
50
50
50
54
54
54

32
32
42
42
50
50
54
54
60
60
74
74
90
110

Kak 3akasaTb / How to Order:

19
19
19
19
22
19
22
24
24
24
30
26
30
34
34
34

19
19
22
22
24
24
25
25
28
28
30
30
32
40

Screws

M8x30
M8x30
M10x35
M10x35
M10x35
M10x40
M10x40
M10x40
M12x45
M12x45
M12x45
M12x45
M12x45
M16x50
M16x50
M16x50

M8x30
M8x30
M10x40
M10x40
M12x45
M12x45
M14x45
M14x45
M16x50
M16x50
M20x70
M20x70
M24x80
M30x100

5/16x1"1/4
5/16x1"1/4
3/8x1"1/2
3/8x1"1/2
3/8x1"1/2
3/8x1"1/2
7/16x1"3/4
7/16x1"3/4
1/2x1"3/4
1/2x1"3/4
1/2x1"3/4
1/2x1"3/4
1/2x1"3/4
5/8x2"
5/8x2"
5/8x2"

5/16x1"1/4
5/16x1"1/4
3/8x1"1/2
3/8x1"1/2
7/16x1"3/4
7/16x1"3/4
1/2x1"3/4
1/2x1"3/4
5/8x2"
5/8x2"
3/4x2"1/2
3/4x2"1/2

MapHeIi hnaHel, B KOMNNeKTe ¢ MeTpuieckumm Gontamu, wanbamu n yn DNO...08
Complete double flange with metrical screws, waschers and o-ring

4075
4075
4100
4100
4131
4131
4150
4150
4187
4187
4225
4225
4275
4337
4387
4437

4075
4075
4100
4100
4131
4131
4150
4150
4187
4187
4225
4225
4275
4337

MapHeint onarel, B komnnekte ¢ 6ontamu UNC, wanbamu u ynnotHuten! DNO...08U
Complete double flange with UNC screws, waschers and o-ring

16 -1



ITIIn N,

iy s 'fPl'ESS ". :"f m::fﬂ.fr‘:

NNO6 dnaHeu pesbboson 90°, NPT
NPT Threaded 90° Flanges
Screws
; i
(T}
S
z
I
pressure part number Screws
sizel A _|BJ] Cc D] E | FJ]G[H[ I | L[N Meticl Unc [type]
3000 psi
NNO03-08 1/2"  1/2" NPT 13 38,10 54 17,48 60 20 16 19 9 37 M8x30 5/16x1"1/4 4075
NNO03-0806 1/2"  3/8"NPT 13 38,10 54 17,48 60 20 16 19 9 37 M8x30 5/16x1"1/4 4075
345 NNO03-12 3/4"  3/4"NPT 19 47,63 65 22,23 63 24 18 19 11 38 M10x35 3/8x1"1/2 4100
NNO03-1208 3/4"  1/2"NPT 19 47,63 65 22,23 63 24 18 19 11 38 M10x35 3/8x1"1/2 4100
NNO03-16 1" 1" NPT 25 52,37 70 26,19 70 28 19 20 11 43 M10x35 3/8x1"1/2 4131
NNO03-1612 1" 3/4" NPT 25 52,37 70 26,19 70 28 19 20 11 43 M10x40 3/8x1"1/2 4131
276 NNO03-20 1"1/4  1"1/4 NPT 32 58,72 79 30,18 85 34 21 22 11,5 51 M10x40 7/16x1"3/4 4150
NN03-2016 1"1/4  1"NPT 32 58,72 79 30,18 85 34 21 22 11,5 51 M10x40 7/16x1"3/4 4150
NNO03-24 1"1/2  1"1/2 NPT 38 69,85 93 35,71 95 38 25 25 13,5 56 M12x45 1/2x1"3/4 4187
207 NNO03-2420 1"1/2  1"1/4 NPT 38 69,85 93 35,71 95 38 25 25 13,5 56 M12x45 1/2x1"3/4 4187
NNO03-32 2" 2" NPT 51 77,77 110 42,88 110 42 25 28 135 65 M12x45 1/2x1"3/4 4225
NNO03-3224 2" 1"1/2 NPT 51 77,77 110 42,88 110 42 25 28 13,5 65 M12x45 1/2x1"3/4 4225
6000 psi
NNO06-0808 1/2"  1/2"NPT 13 40,49 54 18,24 60 20 16 19 9 37 M8x30 5/16x1"1/4 4075
NNO06-0806 1/2"  3/8" NPT 13 40,49 54 18,24 60 20 16 19 9 37 M8x30 5/16x1"1/4 4075
NNO06-12 3/4"  3/4"NPT 19 50,80 70 23,80 70 28 19 20 11 43 M10x40 3/8x1"1/2 4100
NNO06-1208 3/4"  1/2"NPT 19 50,80 70 23,80 70 28 19 20 11 43 M10x40 3/8x1"1/2 4100
NNO06-16 1" 1"NPT 25 57,15 79 27,76 85 34 21 22 13 51 M12x45 7/16x1"3/4 4131
414 NNO06-1612 1" 3/4" NPT 25 57,15 79 27,76 85 34 21 22 18 51 M12x45 7/16x1"3/4 4131
NNO06-20 1"1/4  1"1/4 NPT 32 66,68 93 31,75 95 38 25 25 15 56 M14x45 1/2x1"3/4 4150
NNO06-2016 1"1/4  1"NPT 32 66,68 93 31,75 95 38 25 25 15 56 M14x45 1/2x1"3/4 4150
NNO06-24 1"1/2  1"1/2 NPT 38 79,38 110 36,50 110 42 25 28 17 65 M16x50 5/8x2" 4187
NN06-2420 1"1/2  1"1/4 NPT 38 79,38 110 36,50 110 42 25 28 17 65 M16x50 5/8x2" 4187
NNO06-32 2" 2" NPT 51 96,82 134 44,45 132 45 85) 33 21 75 M20x70 3/4x2"1/2 4225
NN06-3224 2" 1"1/2 NPT 51 96,82 134 44,45 132 45 85) 33 21 75 M20x70 3/4x2"1/2 4225

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange NNO...08
®naHey B komnsekte ¢ Gontamn UNC, waiitbamm 1 ynnoTHNTENbHbIM KOS

NNO....08U

Complete flange with UNC screws, waschers and o'ring

®naHeL| B KOMNIEKTE C METPUYECKUMU GonTamu, Wwaiibamu 1 ynnoTHuTes NNO....08M
Complete flange with metric screws, waschers and o'ring

17 -1



T ypress | R L LT — ) MM

FDJ3

dnaHeu pesbboson, JIC
FDJ6

JIC Threaded Flanges

max Viti
pressure | part number

sicel A | BJ] ¢ |DJ] E _JFJ]GJHJ] I ] LS [Meticl Unc |type
3000 psi

FDJ3-0808 1/2" 3/4"-16UNF 9,9 38,10 54 17,48 46 52 13 6,4 9,0 10,82 M8x30 5/16x1"1/4 4075

345 FDJ3-0810 1/2" 7/8"-14UN 12,3 38,10 54 17,48 46 52 13 6,8 9,0 13,69 M8x30 5/16x1"1/4 4075

FDJ3-12 3/4" 1"1/16 -12UN 15,5 47,63 65 22,23 50 60 14 8,0 11,5 16,87 M10x35 3/8x1"1/2 4100
FDJ3-16 1" 1"5/16-12UN 21,5 52,37 70 26,19 55 63 16 8,0 11,5 23,19 M10x35 3/8x1"1/2 4131
276 FDJ3-20 1"1/4 1"5/8-12UN 27,5 58,72 79 30,18 68 65 14 9,3 11,5 29,13 M10x35 7/16x1"3/4 4150
207 FDJ3-24 1"1/2 1"7/8 -12UN 33,0 69,85 94 35,71 78 70 16 9,6 13,5 35,08 M12x35 1/2x1"3/4 4187
6000 psi
FDJ6-0808 1/2" 3/4"-16UNF 9,9 40,49 56 18,24 48 60 16 6 9,0 10,82 M8x30 5/16x1"1/4 4075
FDJ6-0810 1/2"  7/8"-14UN 12,3 40,49 56 18,24 48 60 16 7 9,0 13,69 M8x30 5/16x1"1/4 4075
414 FDJ6-12 3/4" 1"1/16-12UN 15,5 50,80 71 23,80 60 73 19 8 11,5 16,87 M10x40 3/8x1"1/2 4100
FDJ6-16 1" 1"5/16 - 12UN 21,5 57,15 81 27,76 70 82 24 8 13,0 23,19 M12x45 7/16x1"3/4 4131
FDJ6-20 1"1/4 1"5/8 -12UN 27,5 66,68 95 31,75 78 92 27 9 15,0 29,13 M14x45 1/2x1"3/4 4150
FDJ6-24 1"1/2 1"7/8-12UN 33,0 79,38 113 36,50 95 96 30 10 17,0 35,08 M16x50 5/8x2" 4187

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange FDJ...08
dnaHey B komnnekTe ¢ 6Gontamu UNC, waibamu 1 ynnoTHUTENbHbLIM KO

' FDJ....08U

Complete flange with UNC screws, waschers and o'ring

®dnaHey B KOMN/eKTe ¢ MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes EDJ....0SM
Complete flange with metric screws, waschers and o'ring

18 -1



PEEERY, e S A wr MM,

R 11 = ange .'f
NOJ3 dnaHey pe3bboBon 90°, G - D )
NOJ6 JiC Screws H -
JIC Threaded 90° Flanges |'£
ra Y
NE'Ring
._{

B1

]

AT

max Viti
pressure | part number

sizel A | BJ/B1]C|DJ]EJF]G]H] I ] LJNIJS [Meticl Unc |type
3000 psi

N0J3-0808 1/2" 3/4"-16UNF 13 9,9 38,10 54 17,48 60 20 16 64 9 37 10,82 M8x30 5/16x1"1/4 4075

345 N0J3-0810 1/2" 7/8"-14UN 13 12,3 38,10 54 17,48 60 20 16 6,8 9 37 13,69 M8x30 5/16x1"1/4 4075

NO0J3-12 3/4" 1"1/16-12UN 19 155 47,63 65 22,23 64 24 18 8 11 39 16,87 M10x35 3/8x1"1/2 4100
N0J3-16 1" 1"5/16-12UN 25 21,5 52,37 70 26,19 71 28 19 8 11 44 23,19 M10x35 3/8x1"1/2 4131
276  N0J3-20 1"1/4 1"5/8-12UN 32 27,5 58,72 79 30,18 86 34 21 93 11,5 52 29,13 M10x40 7/16x1"3/4 4150
207 NO0J3-24 1"1/2 1"7/8-12UN 38 33,0 69,85 93 3571 96 38 25 9,6 13,5 57 35,08 M12x45 1/2x1"3/4 4187
6000 psi
N0J6-0808 1/2" 3/4"-16UNF 13 9,9 4049 54 18,24 60 20 16 6,4 9 37 10,82 M8x30 5/16x1"1/4 4075
N0J6-0810 1/2"  7/8"- 14UN 13 12,3 4049 54 18,24 60 20 16 6,8 9 37 13,69 M8x30 5/16x1"1/4 4075
414 N0J6-12 3/4" 1"1/16-12UN 19 15,0 50,80 70 23,80 71 28 19 8 11 44 16,87 M10x35 3/8x1"1/2 4100
NO0J6-16 1" 1'5/16-12UN 25 21,5 57,15 79 27,76 85 34 21 8 13 51 23,19 M12x45 7/16x1"3/4 4131
N0J6-20 1"1/4 1"5/8-12UN 32 27,5 66,68 93 31,75 96 38 25 9,3 15 57 29,13 M14x45 1/2x1"3/4 4150
NO0J6-24 1"1/2 1"7/8-12UN 38 33,0 79,38 110 3550 111 42 25 96 17 66 35,08 M16x50 5/8x2" 4187

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange NOJ...08
dnaHey B komnnekTe ¢ 6Gontamu UNC, waibamu 1 ynnoTHUTENbHbLIM KO

' NOJ....08U

Complete flange with UNC screws, waschers and o'ring

®dnaHey B KOMN/eKTe ¢ MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes NOJ....08M
Complete flange with metric screws, waschers and o'ring

19 -1



iHypress [ T m.& MM

FU03 ®naHey pe3bboBon, UNF
FUO6 napannenbHas, c nasom nop, Screws
YNNOTHUTENBHOE KOMbLIO

(UN) Threaded flanges with O-Ring groove
parallel thread

part number “ Screws m

sizel A | B Cc [ DJ]E]F]G /L H/] I | L | U/[K/Metcl Uc liypel

3000 psi

FU03-08 1/2" 3/4"-16UNF 13 38,10 57 17,48 46 36 16 17 9,0 206 25 M8x30 5/16x1"1/4 4075
345 FU03-12 3/4" 1"1/16-12UN 19 47,63 65 22,23 50 36 18 23 11,0 29,2 3,3 M10x35 3/8x1"1/2 4100

FU03-16 1" 1'5/16- 12UN 25 52,37 70 26,19 55 38 18 23 11,0 355 3,3 M10x35 3/8x1"1/2 4131
276  FU03-20 1"1/4 1"5/8 - 12UN 32 58,72 79 30,18 68 41 21 23 11,5 43,5 3,3 M10x40 7/16x1"3/4 4150
207 FU03-24 1"1/2 1"7/8-12UN 38 69,85 93 3571 78 45 25 23 13,5 49,8 3,3 M12x45 1/2x1"3/4 4187

6000 psi

FU06-08 1/2" 3/4"-16UNF 13 40,49 57 18,24 46 36 16 17 9 206 25 M8x30 5/16x1"1/4 4075

FU06-12 3/4" 1"1/16-12UN 19 50,80 71 23,80 55 85) 21 23 11 29,2 3,3 M10x40 3/8x1"1/2 4100
414 FU06-16 1" 1"5/16-12UN 25 57,15 81 27,76 65 42 25 23 13 355 3,3 M12x45 7/16x1"3/4 4131

FU06-20 1"1/4 1"5/8 -12UN 32 66,68 95 31,75 78 45 27 23 15 43,5 3,3 M14x45 1/2x1"3/4 4150

FU06-24 1"1/2 1"7/8-12UN 38 79,38 112 36,50 94 50 30 23 17 49,8 3,3 M16x50 5/8x2" 4187

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange FUO...08
®naHey B komnsekte ¢ Gontamn UNC, waiitbamm 1 ynnoTHNTENbHbIM KOS

' FUO....08U

Complete flange with UNC screws, waschers and o'ring

®naHeL| B KOMNIEKTE C METPUYECKUMU GonTamu, Wwaiibamu 1 ynnoTHuTes FUO....08M
Complete flange with metric screws, waschers and o'ring

20 -1



iHypess || T — ] 1M,

G

cuos OtBeTHada yacTb pnaHua, UNF
CU06 napannenbHas, ¢ nasom nog, r___,..-ij
YNMOTHUTENbHOE KOMbLIO

(UN) Threaded counter-flanges with O-Ring
groove parallel thread &

max
E
[_bar sizel A | B ] Cc [ DJ] E_|F|GlH/| I |U/]K]

3000 psi

CU03-08 1/2" 3/4"-16UNF 13 38,10 57 17,48 46 36 16 17 206 25 M8 5/16
345 CU03-12 3/4" 1"1/16-12UN 19 47,63 65 22,23 50 36 18 23 292 33 M10 3/8

CU03-16 1" 1"5/16-12UN 25 52,37 70 26,19 59 38 18 23 355 33 M10 3/8
276  CU03-20 1"1/4 1"5/8 - 12UN 32 58,72 79 30,18 68 41 21 23 435 33 M10 7116
207 CU03-24 1"1/2 1"7/8-12UN 38 69,85 93 35,71 78 45 25 23 498 33 M12 1/2

6000 psi

CU06-08 1/2" 3/4"-16UNF 13 40,49 57 18,24 46 36 16 17 206 25 M8 5/16

CU06-12 3/4" 1"1/16-12UN 19 50,80 7 23,80 55) 85) 21 23 292 33 M10 3/8
414  CU06-16 1" 1"5/16-12UN 25 57,15 81 27,76 65 42 25 23 355 33 M12 7/16

CU06-20 1"1/4 1"5/8 -12UN 32 66,68 95 31,75 78 45 27 23 435 33 M14 1/2

CU06-24 1"1/2 1"7/8-12UN 38 79,38 112 36,50 94 50 30 23 498 33 M6 5/8

Kak 3akasaTb / How to Order:

OTBeTHas 4acTb (hnaHLa Noa CoeaMHeHNe METPUYECKMMM GonTamn CUO0..08
Counter flange with metric tapholes

OtBeTHas YacTb chnaHua nog coeguHeHne Gontamm UNC
) CUO0...08U
Counter flange with UNC tapholes

21-1



ke |1 T — || 1320

NU03 ®naHey pesbboBon 90°, UNF
NUO06 napannensHas, c nasom noq Semw,
YNNOTHUTENBHOE KOMbLIO

(UN) Threaded 90° flanges with O-Ring
groove parallel thread

part number “ Screws m

sizel A [ Bl Cc|DJ]EJ]F]G|HL I L[N]U/[K/Metocl Uc liypel

3000 psi

NUO03-08 1/2" 3/4"16UNF 13 38,10 54 17,48 60 20 16 17 9 370 29,6 25 M8x30 5/16x1"1/4 4075
345 NU03-12 3/4" 1"1/16-12UN 19 47,63 65 22,23 63 24 18 23 11 38,0 29,2 3,3 M10x35 3/8x1"1/2 4100

NU03-16 1" 1"5/16-12UN 25 5237 70 26,19 70 28 19 23 11 43,0 355 3,3 M10x35 3/8x1"1/2 4131
276  NU03-20 1"1/4 1"5/8-12UN 32 58,72 79 30,18 79 34 21 23 12 51,0 435 3,4 M10x40 7/16x1"3/4 4150
207 NU03-24 1"1/2 1"7/8-12UN 38 69,85 93 3571 93 38 25 23 14 56,0 49,8 3,4 M12x45 1/2x1"3/4 4187

6000 psi

NUO06-08 1/2" 3/4"16 UNF 13 40,49 54 18,24 60 20 16 17 9 370 29,6 25 M8x30 5/16x1"1/4 4075

NU06-12 3/4" 1"1/16-12UN 19 50,80 70 23,80 70 28 19 23 11 43,0 29,2 3,3 M10x35 3/8x1"1/2 4100
414 NUO06-16 1" 1"5/16-12UN 25 57,15 79 27,76 85 34 21 23 13 51,0 355 3,3 M12x45 7/16x1"3/4 4131

NU06-20 1"1/4 1"5/8-12UN 32 66,68 93 31,75 95 38 25 23 15 56 43,5 3,4 M14x45 1/2x1"3/4 4150

NU06-24 1"1/2 1"7/8-12UN 38 79,38 110 36,50 110 42 25 23 17 65,0 49,8 3,4 M16x50 5/8x2" 4187

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange NUO...08
®naHey B komnsekte ¢ Gontamn UNC, waiitbamm 1 ynnoTHNTENbHbIM KOS

' NUO....08U

Complete flange with UNC screws, waschers and o'ring

®naHeL| B KOMNIEKTE C METPUYECKUMU GonTamu, Wwaiibamu 1 ynnoTHuTes NUO....08M
Complete flange with metric screws, waschers and o'ring

22 -1



max
pressure | part number

345

276
207

172
138

34

414

lMpuBapHoU hnaHey,

Weld in flanges

3000 psi

FS03-08
FS03-0806
FS03-12
FS03-16
FS03-20
FS03-24
FS03-32
FS03-40
FS03-48
FS03-56
FS03-64

6000 psi

FS06-0808
FS06-0806
FS06-12
FS06-16
FS06-20
FS06-24
FS06-32
FS06-40
FS06-48

172"
172"
3/4"
1
1"1/4
1"1/2
on
2"1/2
3n
3"1/2
4"

172"
172"
3/4"
1
1"1/4
1"1/2
on
2"1/2
3"

21,6
17,5
27,2
34
42,8
48,6
61
76,6
90,5
103
115,5

21,6
17,5
27,2
34
42,8
48,6
61
76,6
90,5

13
13
19
25
32
38
51
63
73
89
99

13
13
19
25
32
38
51
63
73

Screws

38,10
38,10
47,63
52,37
58,72
69,85
77,77
88,90
106,38
120,65
130,18

40,49
40,49
50,80
57,15
66,68
79,38
96,82
123,80
152,40

57
57
65
70
79
93
102
114
134
152
162

57
57
71
81
95
112
134
180
208

17,48
17,48
22,23
26,19
30,18
35,71
42,88
50,80
61,93
69,85
77,77

18,24
18,24
23,80
27,76
31,75
36,50
44,45
58,70
71,40

46
46
50
55
68
78
90
105
124
136
146

46
46
55
65
78
94

114

152

178

Kak 3akasatb / How to Order:

Tonbko cnaneu, / Only Flange

36
36
36
38
41
45
45
50
50
48
48

36
36
35
42
45
50
65
80
90

16
16
18
18
21
25
25
25
27
27
27

16
16
21
25
27
30
37
45
55

19
19
19
19
22
24
26
30
34
34
34

19
19
22
22
25
28
24
32
30

9,0

9,0

11,0
11,0
11,5
13,5
13,5
13,5
17,5
17,5
17,5

11
13
15
17
21
26
33

sizel A | B Cc | D] E | F |G| H] I | L [Metic] Unc_ |iypel

M8x30 5/16x1"1/4

M8x30 5/16x1"1/4
M10x35 3/8x1"1/2
M10x35 3/8x1"1/2
M10x40 7/16x1"3/4
M12x45 1/2x1"3/4
M12x45 1/2x1"3/4
M12x45 1/2x1"3/4
M16x50  5/8x2"
M16x50  5/8x2"
M16x50  5/8x2"

M8x30 5/16x1"1/4
M8x30 5/16x1"1/4
M10x40 3/8x1"1/2
M12x45 7/16x1"3/4
M14x45 1/2x1"3/4
M16x50  5/8x2"
M20x70 3/4x2"1/2
M24x80 -
M30x100 =

FS0...08

4075
4075
4100
4131
4150
4187
4225
4275
4337
4387
4437

4075
4075
4100
4131
4150
4187
4225
4275
4337

®naHel, B komnnekte ¢ 6ontamu UNC, wanbamu 1 ynnoTHUTENbHbLIM KOX
FS0....08U

Complete flange with UNC screws, waschers and o'ring

®dnaHey B KOMN/eKTe ¢ MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes
FSO0....08M

Complete flange with metric screws, waschers and o'ring

23 -1




Weld in counter-flanges

max
pressure | part number

345

276
207

172
138

34

414

3000 psi

CS03-08
CS03-0806
CS03-12
CS03-16
CS03-20
CS03-24
CS03-32
CS03-40
CS03-48
CS03-56
CS03-64

6000 psi

CS06-0808
CS06-0806
CS06-12
CS06-16
CS06-20
CS06-24
CS06-32
CS06-40
CS06-48

sizel A | B ] Cc [|DJ] E_J|FlG| H | I |

172"
172"
3/4"
1
1"1/4
1"1/2
on
2"1/2
3n
3"1/2
4"

172"
172"
3/4"
1
1"1/4
1"1/2
on
2"1/2
3"

21,6
17,5
27,2
34
42,8
48,6
61
76,6
90,5
103
115,5

21,6
17,5
27,2
34
42,8
48,6
61
76,6
90,5

13
13
19
25
32
38
51
63
73
89
99

13
13
19
25
32
38
51
63
73

38,10
38,10
47,63
52,37
58,72
69,85
77,77
88,90
106,38
120,65
130,18

40,49
40,49
50,80
57,15
66,68
79,38
96,82
123,80
152,40

57
57
65
70
79
93
102
114
134
152
162

57
57
71
81
95
112
134
180
208

17,48
17,48
22,23
26,19
30,18
35,71
42,88
50,80
61,93
69,85
77,77

18,24
18,24
23,80
27,76
31,75
36,50
44,45
58,70
71,40

46
46
50
55
68
78
90
105
124
136
146

46
46
55
65
78
94
114
152
178

Kak 3akasaTb / How to Order:

36
36
36
38
41
45
45
50
50
48
48

36
36
35
42
45
50
65
80
90

16
16
18
18
21
25
25
25
27
27
27

16
16
21
25
27
30
37
45
55

" 1] e —— .
Mk ypress [ S Flange 2l mimm.
CS03 n &
MBapHaa oTBeTHaA 4acCTtb @riaHua
csoe v -

19
19
19
19
22
24
26
30
34
34
34

19
19
22
22
25
28
24
32
30

.

M8
M8
M10
M10
M10
M12
M12
M12
M16
M16
M16

M8
M8
M10
M12
M14
M16
M20
M24
M30

OTBeTHas YacTb chnaHua nog coeauHeHne MeTpudeckummn Gontamu

Counter flange with metric tapholes

OtBeTHas YacTb chnaHua nog coeguHeHne Gontamm UNC
Counter flange with UNC tapholes

5/16
5/16
3/8
3/8
7116
1/2
1/2
1/2
5/8
5/8
5/8

5/16
5/16
3/8
7/16
12
5/8
3/4

CS0...08

CS0...08U

24 -1



iHypess || T — ] 1M,

FSM3 y
lMprBapHoON donaHewl noa MeTpU4ecKyro
FSM6 Tpy6y

Metric pipe weld in flanges Screws

max Viti
pressure | part number

sizel A | B Cc | D] E | F |Gl H] I | L |Meticl| Unc liype

3000 psi
FSM3-08 1/2" 20,3 13 38,10 57 17,48 46 36 16 19 9,0 M8x30 5/16x1"1/4 4075
345 FSM3-12 3/4" 25,3 19 47,63 65 22,23 50 36 18 19 11,0 M10x35 3/8x1"1/2 4100
FSM3-16 1" 30,3 25 52,37 70 26,19 59 38 18 19 11,0 M10x35 3/8x1"1/2 4131
276  FSM3-20 1"1/4 38,3 32 58,72 79 30,18 68 41 21 22 11,5 M10x40 7/16x1"3/4 4150
207 FSM3-24 1"1/2 50,5 38 69,85 93 35,71 78 45 25 24 13,5 M12x45 1/2x1"3/4 4187
6000 psi
FSM6-08 1/2" 20,3 13 40,49 57 18,24 46 36 16 19 9 M8x30 5/16x1"1/4 4075
FSM6-12 3/4" 253 19 50,80 7 23,80 55) 85) 21 22 11 M10x40 3/8x1"1/2 4100
FSM6-16 1" 30,3 25 57,15 81 27,76 65 42 25 22 13 M12x45 7/16x1"3/4 4131
414  FSM6-20 1"1/4 38,3 32 66,68 95 31,75 78 45 27 25 15 M14x45 1/2x1"3/4 4150
FSM6-2026 1"1/4 38,3 26 66,68 95 31,75 78 45 27 25 15 M14x45 - 4150
FSM6-2028 1"1/4 38,3 28 66,68 95 31,75 78 45 27 25 15 M14x45 - 4150
FSM6-24 1"1/2 50,5 38 79,38 112 36,50 94 50 30 28 17 M16x50  5/8x2" 4187

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange FSM...08
dnaHey B komnnekTe ¢ 6Gontamu UNC, waibamu 1 ynnoTHUTENbHbLIM KO

' FSM....08U

Complete flange with UNC screws, waschers and o'ring

®dnaHey B KOMN/eKTe ¢ MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes ESM....08M
Complete flange with metric screws, waschers and o'ring

25-1



MHypress || S ——y 2l mmmm.

CSM3
MpuBapHasa oTBeTHas YacTb dnaHua
CSM6 nop meTpuueckyto Tpyby

Metric pipe weld in counter-flanges -

max
pressure | part number Metrlc

sizel A | B ] Cc [|DJ] E_J|FlG| H | I |

3000 psi
CSM3-08 1/2" 20,3 13 38,10 57 17,48 46 36 16 19 M8 5/16
345 CSM3-12 3/4" 253 19 47,63 65 22,23 50 36 18 19 M10 3/8
CSM3-16 1" 30,3 25 52,37 70 26,19 59 38 18 19 M10 3/8
276  CSM3-20 1"1/4 38,3 32 58,72 79 30,18 68 41 21 22 M10 7116
207 CSM3-24 1"1/2 50,5 38 69,85 93 35,71 78 45 25 24 M12 1/2
6000 psi
CSM6-08 1/2" 20,3 13 40,49 57 18,24 46 36 16 19 M8 5/16
CSM6-12 3/4" 253 19 50,80 7 23,80 55) 85) 21 22 M10 3/8
CSM6-16 1" 30,3 25 57,15 81 27,76 65 42 25 22 M12 7/16
414  CSM6-20 1"1/4 38,3 32 66,68 95 31,75 78 45 27 25 M14 1/2
CSM6-2026 1"1/4 38 26 66,68 95 31,75 78 45 27 25 M14 1/2
CSM6-2028 1"1/4 38 28 66,68 95 31,75 78 45 27 25 M14 1/2
CSM6-24 1"1/2 50,5 38 79,38 112 36,50 94 50 30 28 M16 5/8

Kak 3akasaTb / How to Order:

OTBeTHas 4acTb (hnaHLa Noa CoeaMHeHNe METPUYECKMMM GonTamn CSM...08
Counter flange with metric tapholes o

OtBeTHas YacTb chnaHua nog coeguHeHne Gontamm UNC
) CSM...08U
Counter flange with UNC tapholes

26 -1



Mk ypress || S . 2l mimm.

MpueapHon cdonaHel 90°

Weld In 90° Flanges

-

|=

part number “ Screws m

sizel A | B Cc | D] E | F |G| H/| I | L[N |Meticl| Unc_ liypel

3000 psi
NS03-08 1/2" 21,6 13,0 38,10 54 17,48 60 20 16 10 9,0 37 M8x30 5/16x1"1/4 4075
345 NS03-0806 1/2" 17,5 13,0 38,10 54 17,48 60 20 16 10 9,0 37 M8x30 5/16x1"1/4 4075
NS03-12 3/4" 27,2 19,0 47,63 65 22,23 63 24 18 10 11,0 38 M10x35 3/8x1"1/2 4100
NS03-16 1" 34,0 25,0 52,37 70 26,19 70 28 19 12 11,0 43 M10x35 3/8x1"1/2 4131
276  NSO03-20 1"1/4 42,8 32,0 58,72 79 30,18 85 34 21 14 11,5 51 M10x40 7/16x1"3/4 4150
207 NS03-24 1"1/2 48,6 38,0 69,85 93 35,71 95 38 25 16 13,5 56 M12x45 1/2x1"3/4 4187
NS03-32 2" 61,0 51,0 77,77 110 42,88 110 42 25 18 13,5 65 M12x45 1/2x1"3/4 4225
6000 psi
NS06-0808 1/2" 21,6 13,0 40,49 54 18,24 60 20 16 10 9 37 M8x30 5/16x1"1/4 4075
NS06-0806 1/2" 17,5 13,0 40,49 54 18,24 60 20 16 10 9 37 M8x30 5/16x1"1/4 4075
NS06-12 3/4" 27,2 19,0 50,80 70 23,80 70 28 19 12 11 43 M10x40 3/8x1"1/2 4100
414  NS06-16 1" 34,0 25,0 57,15 79 27,76 85 34 21 14 13 51 M12x45 7/16x1"3/4 4131
NS06-20 1"1/4 42,8 32,0 66,68 93 31,75 95 38 25 16 15 56 M14x45 1/2x1"3/4 4150
NS06-24 1"1/2 48,6 38,0 79,38 110 36,50 110 42 25 18 17 65 M16x50 5/8x2" 4187
NS06-32 2" 61,0 51,0 96,82 134 44,45 132 45 35 25 21 75 M20x70 3/4x2"1/2 4225

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange NSO0...08
®naHey B komnsekte ¢ Gontamn UNC, waiitbamm 1 ynnoTHNTENbHbIM KOS

' NSO0....08U

Complete flange with UNC screws, waschers and o'ring

®naHeL| B KOMNIEKTE C METPUYECKUMU GonTamu, Wwaiibamu 1 ynnoTHuTes NSO....08M
Complete flange with metric screws, waschers and o'ring

27 -1



- ':'Lrw Il m.& AN

NSM3 MpuBapHon donaHey 90° nog

NSM6 wmetpuyeckyto Tpyby

Metric pipe weld in 90° flanges

part number “ Screws m

sizel A | B Cc | D] E | F |G| H/| I | L[N |Meticl| Unc_ liypel

3000 psi

NSM3-08 1/2" 20,3 13,0 38,10 54 17,48 60 20 16 10,0 9,0 37 M8x30 5/16x1"1/4 4075
345 NSM3-12 3/4" 25,3 19,0 47,63 65 22,23 63 24 18 10,0 11,0 38 M10x35 3/8x1"1/2 4100

NSM3-16 1" 30,3 25,0 52,37 70 26,19 70 28 19 12,0 11,0 43 M10x35 3/8x1"1/2 4131
276  NSM3-20 1"1/4 38,3 32,0 58,72 79 30,18 85 34 21 140 11,5 51 M10x40 7/16x1"3/4 4150
207 NSM3-24 1"1/2 50,5 38,0 69,85 93 35,71 95 38 25 16,0 13,5 56 M12x45 1/2x1"3/4 4187

6000 psi

NSM6-08 1/2" 20,3 13,0 40,49 54 18,24 60 20 16 10 9 37 M8x30 5/16x1"1/4 4075

NSM6-12 3/4" 253 19,0 50,80 70 23,80 70 28 19 12 11 43 M10x40 3/8x1"1/2 4100
414  NSM6-16 1" 30,3 25,0 57,15 79 27,76 85 34 21 14 13 51 M12x45 7/16x1"3/4 4131

NSM6-20 1"1/4 38,3 32,0 66,68 93 31,75 95 38 25 16 15 56 M14x45 1/2x1"3/4 4150

NSM6-24 1"1/2 50,5 38,0 79,38 110 36,50 110 42 25 18 17 65 M16x50 5/8x2" 4187

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange NSM...08
®naHey B komnsekte ¢ Gontamn UNC, waiitbamm 1 ynnoTHNTENbHbIM KOS

' NSM....08U

Complete flange with UNC screws, waschers and o'ring

®naHeL| B KOMNIEKTE C METPUYECKUMU GonTamu, Wwaiibamu 1 ynnoTHuTes NSM....08M
Complete flange with metric screws, waschers and o'ring

28 -1



iHypess || T — ] 1M,

VSO03 M
pnBapHaa oTBeTHadA 4acCTb
VS06 naHua 90° G : )
- H _ c
Weld in 90° counter-flanges i
- Q :
- !
/ — ()
4 <
_r |
!

.

max
E
[_bar sizel A | B] Cc [|DJ] E_|Flc| H | I [ N[ M | |

3000 psi
VS03-08 1/2" 21,6 13 38,10 54 17,48 17 20 16 10 37 M8
345 VS03-0806 1/2" 17,5 13 38,10 54 17,48 17 20 16 10 37 M8
VS03-12 3/4" 27,2 19 47,63 65 22,23 22 24 18 10 38 M10
VS03-16 1" 34,0 25 52,37 70 26,19 26 28 19 12 43 M10
276  VS03-20 1"1/4 42,8 32 58,72 79 30,18 30 34 21 14 51 M10
207 VS03-24 1"1/2 48,6 38 69,85 93 35,71 36 38 25 16 56 M12
VS03-32 2" 61,0 51 77,77 110 42,88 43 42 25 18 65 M12
6000 psi
VS06-0808 1/2" 21,6 13 40,49 54 18,24 18 20 16 10 37 M8
VS06-0806 1/2" 17,5 13 40,49 54 18,24 18 20 16 10 37 M8
VS06-12 3/4" 27,2 19 50,80 70 23,80 24 28 19 12 43 M10
414  VS06-16 1" 34,0 25 57,15 79 27,76 28 34 21 14 51 M12
VS06-20 1"1/4 42,8 32 66,68 93 31,75 32 38 25 16 56 M14
VS06-24 1"1/2 48,6 38 79,38 110 36,50 37 42 25 18 65 M16
VS06-32 2" 61,0 51 96,82 134 44,45 44 45 35 25 75 M20

Kak 3akasaTb / How to Order:

OTBeTHas 4acTb (hnaHLa Noa CoeaMHeHNe METPUYECKMMM GonTamn
Counter flange with metric tapholes

VS0...08

OtBeTHas YacTb chnaHua nog coeguHeHne Gontamm UNC
) VS0...08U
Counter flange with UNC tapholes

29 -1



MpueapHon cdonaHel 90°

Weld In 90° Flanges

max
pressure | part number
__bar | szel A | B | c | D] E | F |G| HI I | LJN/J 0| Meti]tpe

3000 psi
345 BS03-12 3/4" 27,2 19 47,63 66 22,23 46 19 27 5 11 28 48 M10x45 4100
BS03-16 1" 34,0 25 52,37 7 26,19 55) 22 34 6 11 32 50 M10x50 4131
276  BS03-20 1"1/4 42,8 32 58,72 81 30,18 65 27 42 7 12 35 60 M10x60 4150
207 BS03-24 1"1/2 48,6 38 69,85 95 35,71 75 32 50 8 14 42 70 M12x70 4187
BS03-32 2" 61,0 51 77,77 112 42,88 90 40 63 10 14 50 80 M12x80 4225
172  BS03-40 2"1/2 76,6 63 88,90 120 50,80 120 53 99 15 14 - - - 4275
6000 psi
BS06-12 3/4" 27,2 19 50,80 7 23,80 55) 22 34 6 11 32 50 M10x50 4100
414 BS06-16 1" 34,0 25 57,15 81 27,76 65 27 42 7 13 35 60 M12x60 4131
BS06-20 1"1/4 42,8 32 66,68 95 31,75 75 32 50 8 15 42 70 M14x70 4150
BS06-24 1"1/2 48,6 38 79,38 112 36,50 90 40 63 10 17 50 80 M16x90 4187

Kak 3akasaTtb / How to Order:
Tonbko conare / Only Flange BSO0...08

®dnaHey B KOMMNeKTe ¢ MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes BSO....08M
Complete flange with metric screws, waschers and o'ring

30 -1



[id4 1)/ press

e
.

L —

PS03 Tonoska chnaHua npvBapHas

part number

40

Weld In Flat Flanges

3000 psi

PS03-08
PS03-12
PS03-16
PS03-20
PS03-24
PS03-32
PS03-40
PS03-48
PS03-56
PS03-64

172"
3/4"
1
1"1/4
1"1/2
on
2"1/2
3"
3"1/2
4"

22,5
28,5
35,5
42,5
49,0
61,0
77,0
90,0
103,0
116,0

15
20
29
34
42
53
64
80
93
105

38,10
47,63
52,37
58,72
69,85
77,77
88,90
106,38
120,65
130,18

Screws

56
65
70
79
93
102
114
134
152
162

17,48
22,23
26,19
30,18
35,71
42,88
50,80
61,93
69,85
77,77

46
50
55
68
78
90
105
124
136
146

Kak 3akasatb / How to Order:

Tonbko cnaneu, / Only Flange

14
12
12
12
15
15
15
20
20
25

(o) IS, BS ) B S S T Y

9,0
11,0
11,0
11,5
13,5
13,5
13,5
17,5
17,5
17,5

Screws

sizel A | B ] Cc | D] E | F |l H_ | I | L | Metic|iype]

M8x25
M10x30
M10x30
M10x30
M12x35
M12x35
M12x35
M16x50
M16x50
M16x50

PS0...08

4075
4100
4131
4150
4187
4225
4275
4337
4387
4437

dnaHeL, B KOMNNEKTe ¢ MeTpuieckumm Gontamu, Wwanbamu n ynnotTHuTes
PSO0....08M

Complete flange with metric screws, waschers and o'ring

31-1




i ypress || . &l mimm.

LS03 [lpuBapHas oTBeTHas 4yacTb
donaHua 5

Weld In Flat Counter Flanges

.

max
pressure | part number
[_bar | szel A | BJ] Cc |DJ] E | F | H | I |

3000 psi
LS03-08 1/2" 22,5 15 38,10 56 17,48 46 14 3 M8 5/16
LS03-12 3/4" 28,5 20 47,63 65 22,23 50 12 4 M10 3/8
LS03-16 1" 35,5 29 52,37 70 26,19 55 12 4 M10 3/8
LS03-20 1"1/4 42,5 34 58,72 79 30,18 68 12 4 M10 7/16
40 LS03-24 1"1/2 49,0 42 69,85 93 35,71 78 15 4 M12 1/2
LS03-32 2" 61 B3 77,77 102 42,88 90 15 4 M12 1/2
LS03-40 2"1/2 77 64 88,90 114 50,80 105 15 4 M12 1/2
LS03-48 3" 90 80 106,38 134 61,93 124 20 5) M16 5/8
LS03-56 3"1/2 103 93 120,65 152 69,85 136 20 5) M16 5/8
LS03-64 4" 116 105 130,18 162 77,77 146 25 6 M16 5/8
Kak 3akasaTtb / How to Order:
OTBeTHas YacTb (naHLa Noj COeAMHEHNE METPUYECKUMI GonTamm
Counter flange with metric tapholes LS0...08
OtBeTHas YacTb chnaHua nog coegnHerne Gontamn UNC LSO0...08U

Counter flange with UNC tapholes

32-1




FFTR

max
part number ﬁ
L bar | sizel A LB L C [ D | E L F | _H | | | L | s | |

414

FFOR

max
pressure | part number
[ bar | szel A | 8 | c | o0 | _E | F | _H [ L | |

414

Poket Flat Flanges E

MpvBapHas ronoska gnaHua ¢ nasom

~

6000 psi

FFTR-0817 1/2" 17,0 14 40,49 56 18,24 48 14 9
FFTR-0822 1/2" 22,0 16 40,49 56 18,24 48 14 9
FFTR-12 3/4" 27,0 20 50,80 71 23,80 60 18 9
FFTR-16 1" 34,0 26 57,15 81 27,76 70 22 13
FFTR-20 1"1/4 43,0 32 66,68 95 31,75 78 25 16

lMpuBapHas ronoska naHua ¢ UMIMHOPUYECKMM OTBEPCTUEM

Flat Flanges With Through Hole

9,0
9,0

11,0
14,0
16,0

19,5
24
29,5
36
46

v e r i

6000 psi

FFOR-08 1/2" 22 21 40,49 56 18,24 48
FFOR-10 1/2" 27 24 40,49 56 18,24 48
FFOR-12 3/4" 32 29 50,80 71 23,80 60
FFOR-16 1" 43 38 57,15 81 27,76 70
FFOR-20 1"1/4 49 44 66,68 95 31,75 78

14
14
18
22
25

1
14
16

33 -1




Hypress [N 558 ange SA Y/ rmimm.

FFOR OsanbHag ronoeka graHua c T'L’
LUUITMHAPUYECKMM OTBEPCTUEM

[
1
Oval Flanges With Through Hole @

max
pressure | part number
[_bar | sgel A 8| _c | o | F [ H [ L | |

6000 psi

FFOR-08-2F 1/2" 22 20,5 44,40 60 48 14 8,5

FFOR-10-2F 1/2" 27 24,0 44,40 60 48 14 8,5
414  FFOR-12-2F 3/4" 32 28,5 56,10 76 60 18 10,5

FFOR-16-2F 1" 43 37,5 63,60 88 70 22 12,5

FFOR-20-2F 1"1/4 49 44,0 73,90 103 78 25 14,5

34 -1



iHypess || T — ] 1M,

FFC3
FFC6

dnaHeL ¢ M3MepUTENbHBIM MOPTOM

Check Pressure Sae Flange

max
pressure | part number

sizel A | Cc D] E | F | H|] L | W ______|iyne]

3000 psi
345 FFC3-16 1" 25,0 52,37 71 26,19 60 19 11 M10 - G1/8 4131
276  FFC3-20 1"1/4 32 58,72 81 30,18 68 20 12 M10-M12 - G1/8 - G1/4 4150
207 FFC3-24 1"1/2 38 69,85 95 35,71 78 25 14 M10 - M12 - G1/8 - G1/4 4187
FFC3-32 2" 51 77,77 102 42,88 90 19 14 M10 - G1/8 4225
172  FFC3-40 2"1/2 63 88,90 114 50,80 105 19 14 M10 - G1/8 4275
138 FFC3-48 &’ 73 106,38 134 61,93 124 23 18 M10 - M12 - G1/8 - G1/4 4337
6000 psi
FFC6-12 3/4" 19 50,80 71 23,80 60 19 11 M10 - G1/8 4100
FFC6-16 1" 25 57,15 81 27,76 70 22 13 M10 - M12 - G1/8 - G1/4 4131
414  FFC6-20 1"1/4 32 66,68 95 31,75 78 25 15 M10 - M12 - G1/8 - G1/4 4150
FFC6-24 1"1/2 38 79,38 112 36,50 94 28 17 M10 - M12 - G1/8 - G1/4 4187
FFC6-32 2" 51 96,82 134 44,45 114 28 21 M10 - M12 - G1/8 - G1/4 4225

Kak 3akasatb / How to Order:

Tonbko chnaHeL, ¢ MeTpUYECKUM NOPTOM (NpUMep 3akasa)
Only flange with metric hole (ordering example) FFC3-20M12

Tonbko cbnaHrel, ¢ noptom BSP (npumep 3aka3a)
Only flange with BSP hole (ordering example)

FFC3-20G04

35-1



¥l mimm

FBO3
FB06

dnaHeL npyBapHOK

Weld On Flanges

max Viti
pressure | part number Screws

sizel A | B ] Cc [ D] E | FlGc | H_ | L [Metic] Unc liype]

3000 psi
FB03-08 1/2" 21,5 13 38,10 57 17,48 46 36 16 9,0 M8x30 5/16x1"1/4 4075
345 FB03-0806 1/2" 17,5 13 38,10 57 17,48 46 36 16 9,0 M8x30 5/16x1"1/4 4075
FB03-12 3/4" 28,0 19 47,63 65 22,23 50 36 18 11,0 M10x35 3/8x1"1/2 4100
FB03-16 1" 34,0 25 52,37 70 26,19 55) 38 18 11,0 M10x35 3/8x1"1/2 4131
276  FB03-20 1"1/4 42,8 32 58,72 79 30,18 68 41 21 11,5 M10x40 7/16x1"3/4 4150
207 FB03-24 1"1/2 48,6 38 69,85 93 35,71 78 44 25 13,5 M12x45 1/2x1"3/4 4187
FB03-32 2" 61,0 51 77,77 102 42,88 90 45 25 13,5 M12x45 1/2x1"3/4 4225
172 FB03-40 2"1/2 77,0 63 88,90 114 50,80 105 50 25 13,5 M12x45 1/2x1"3/4 4275
138 FB03-48 3" 92,0 73 106,38 134 61,93 124 50 27 17,5 M16x50  5/8x2" 4337
34 FB03-56 3"1/2 103,0 89 120,65 152 69,85 136 48 27 17,5 M16x50  5/8x2" 4387
FB03-64 4" 115,5 99 130,18 162 77,77 146 48 27 17,5 M16x50  5/8x2" 4437
6000 psi
FB06-0808 1/2" 21,5 13 40,49 57 18,24 46 36 16 9 M8x30 5/16x1"1/4 4075
414 FB06-0806 1/2" 17,5 13 40,49 57 18,24 46 36 16 9 M8x30 5/16x1"1/4 4075
FB06-12 3/4" 28,0 19 50,80 71 23,80 59 35 21 11 M10x40 3/8x1"1/2 4100
FB06-16 1" 34,0 25 57,15 79 27,76 68 41 21 13 M12x45 7/16x1"3/4 4131
375 FB06-20 1"1/4 42,8 32 66,68 93 31,75 78 44 25 15 M14x45 1/2x1"3/4 4150
320 FBO06-24 1"1/2 48,6 38 79,38 112 36,50 94 5 30 17 M16x50  5/8x2" 4187
250 FB06-32 2" 61,0 51 96,82 134 44,45 114 65 37 21 M20x70 3/4x2"1/2 4225
230 FBO06-40 2"1/2 76,6 63 123,80 180 58,70 152 80 45 26 M24x80 - 4275
200 FB06-48 3" 90,0 73 152,40 208 71,40 178 90 55 33 M30x100 - 4337

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange FBO...08
®naHel, B komnnekte ¢ 6ontamu UNC, wanbamu 1 ynnoTHUTENbHbLIM KOX

FBO....08U

Complete flange with UNC screws, waschers and o'ring

®dnaHey B KOMN/eKTe ¢ MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes EBO....08M
Complete flange with metric screws, waschers and o'ring

36 -1



MiHypress || S 2l mimm.
CcB03

CB06

[MprBapHasa oTBeTHas YacTb

donaHua

Weld On Counter-Flanges

max
pressure | part number

345

276
207

172
138

34

414

375
320
250
230
200

3000 psi

CB03-08
CB03-0806
CB03-12
CB03-16
CB03-20
CB03-24
CB03-32
CB03-40
CB03-48
CB03-56
CB03-64

6000 psi

CB06-0808
CB06-0806
CB06-12
CB06-16
CB06-20
CB06-24
CB06-32
CB06-40
CB06-48

sizel A | B Cc [DJ] E_| F_ | 6 | _H_ |

172"
172"
3/4"
1
1"1/4
1"1/2
on
2"1/2
3n
3"1/2
4"

172"
172"
3/4"
1
1"1/4
1"1/2
on
2"1/2
3"

21,5
17,5
28,0
34,0
42,8
48,6
61,0
77,0
92,0
103,0
115,5

21,5
17,5
28,0
34,0
42,8
48,6
61,0
76,6
90,0

13
13
19
25
32
38
51
63
73
89
99

13
13
19
25
32
38
51
63
73

38,10
38,10
47,63
52,37
58,72
69,85
77,77
88,90
106,38
120,65
130,18

40,49
40,49
50,80
57,15
66,68
79,38
96,82
123,80
152,40

57
57
65
70
79
93
102
114
134
152
162

57
57
71
79
93
112
134
180
208

17,48
17,48
22,23
26,19
30,18
35,71
42,88
50,80
61,93
69,85
77,77

18,24
18,24
23,80
27,76
31,75
36,50
44,45
58,70
71,40

N

.

46 36 16 M8 5/16
46 36 16 M8 5/16
50 36 18 M10 3/8
55 38 18 M10 3/8
68 41 21 M10 716
78 44 25 M12 1/2
90 45 25 M12 1/2
105 50 25 M12 1/2
124 50 27 M16 5/8
136 48 27 M16 5/8
146 48 27 M16 5/8
46 36 16 M8 5/16
46 36 16 M8 5/16
55 35 21 M10 3/8
68 41 21 M12 7116
78 44 25 M14 1/2
94 55 30 M16 5/8
114 65 37 M20 3/4
152 80 45 M24 —
178 90 55 M30 o=
Kak 3akasaTtb / How to Order:
g;i::f:;:;:, icﬁ’n:::cn;i :zleeineHwe MeTpUieckuMmM GonTamm CBO..08
OtBeTHas YacTb chnaHua nog coegnHerne Gontamn UNC CBO...08U

Counter flange with UNC tapholes

37 -1



THy Yl mmimm.
DB03 [MapHbIM NpuBapHOW hnaHey,
DBO06

. E - D

Weld On Double Flanges Screws [ ]

\O'Ring

max Viti
pressure | part number Screws

sizel A | 8B | c | D | E | F |G| H__[Metic] Unc_ |iype]

3000 psi
DB03-08 1/2" 21,5 13 38,10 57 17,48 46 72 32 M8x30 5/16x1"1/4 4075
345 DB03-0806 1/2" 17,5 13 38,10 57 17,48 46 72 32 M8x30 5/16x1"1/4 4075
DB03-12 3/4" 28,0 19 47,63 65 22,23 50 72 36 M10x35 3/8x1"1/2 4100
DB03-16 1" 34,0 25 52,37 70 26,19 5 76 36 M10x35 3/8x1"1/2 4131
276 DB03-20 1"1/4 42,8 32 58,72 79 30,18 68 82 42 M10x40 7/16x1"3/4 4150
207 DB03-24 1"1/2 48,6 38 69,85 93 35,71 78 88 50 M12x45 1/2x1"3/4 4187
DB03-32 2" 61,0 51 77,77 102 42,88 90 90 50 M12x45 1/2x1"3/4 4225
172  DB03-40 2"1/2 77,0 63 88,90 114 50,80 105 100 50 M12x45 1/2x1"3/4 4275
138 DB03-48 3" 92,0 73 106,38 134 61,93 124 100 54 M16x50  5/8x2" 4337
34 DB03-56 3"1/2 103,0 89 120,65 152 69,85 136 96 54 M16x50  5/8x2" 4387
DB03-64 4" 115,5 99 130,18 162 77,77 146 96 54 M16x50  5/8x2" 4437
6000 psi
DB06-0808 1/2" 21,5 13 40,49 57 18,24 46 72 32 M8x30 5/16x1"1/4 4075
414 DB06-0806 1/2" 17,5 13 40,49 57 18,24 46 72 32 M8x30 5/16x1"1/4 4075
DB06-12 3/4" 28,0 19 50,80 71 23,80 55 70 42 M10x40 3/8x1"1/2 4100
DB06-16 1" 34,0 25 57,15 79 27,76 68 82 42 M12x45 7/16x1"3/4 4131
375 DB06-20 1"1/4 42,8 32 66,68 93 31,75 78 88 50 M14x45 1/2x1"3/4 4150
320 DBO06-24 1"1/2 48,6 38 79,38 112 36,50 94 110 60 M16x50  5/8x2" 4187
250 DBO06-32 2" 61,0 51 96,82 134 44 .45 114 130 74 M20x70 3/4x2"1/2 4225
230 DBO06-40 2"1/2 76,6 63 123,80 180 58,70 152 160 90 M24x80 4275
200 DB06-48 3" 90,0 73 152,40 208 71,40 178 180 110 M30x100 - 4337

Kak 3akasatb / How to Order:

MapHeIi hnaHel, B KOMNNeKTe ¢ MeTpuieckumm Gontamu, wanbamu n yn DBO...08
Complete double flange with metrical screws, waschers and o-ring

MapHbii onaHey B komnnekte ¢ Gontamu UNC, wainbamu v ynnoTHUTEn!
Complete double flange with UNC screws, waschers and o-ring

DBO...08U

38 -1



miHypress [IF  FlangesA Yl rmimm

FBM3 .
MpuBapHoM donaHew noa
FBM6 wmeTtpuyeckyto Tpyby ¢

UMNMHOPnNYeCKMM OTBEPCTUEM
Metric Pipe Cylindric Hole Weld On Flanges Screws

ORing,” __| 0.60

—

max
pressure | part number Screws
| bar | sizel . A |Bl ¢ [D] E JFIG[ H | L [Metic] Unc [type

3000 psi
345 FBM3-12 3/4" 25,0 19 47,63 65 22,23 50 36 18 11,0 M10x35 3/8x1"1/2 4100
FBM3-16 1" 30,0 22 52,37 70 26,19 55) 38 18 11,0 M10x35 3/8x1"1/2 4131
276  FBM3-20 1"1/4 38,0 30 58,72 79 30,18 68 41 21 11,5 M10x40 7/16x1"3/4 4150
FBM3-24 1"1/2 42,0 36 69,85 93 35,71 78 45 25 13,5 M12x45 1/2x1"3/4 4187
207 FBM3-2448 1"1/2 49,0 38 69,85 93 35,71 78 45 25 13,5 M12x45 1/2x1"3/4 4187
FBM3-32 2" 49,0 42 77,77 102 42,88 90 45 25 13,5 M12x45 1/2x1"3/4 4225
FBM3-3260 2" 61,0 49 77,77 102 42,88 90 45 25 13,5 M12x45 1/2x1"3/4 4225
172 FBM3-40 2"1/2 77,0 62 88,90 114 50,80 105 50 25 13,5 M12x45 1/2x1"3/4 4275
138 FBM3-48 &’ 77,0 70 106,38 134 61,93 124 51 26 17,5 M16x50  5/8x2" 4337
FBM3-4876 &’ 77,0 62 106,38 134 61,93 124 51 26 17,5 M16x50  5/8x2" 4337
FBM3-56 3"1/2 77,0 70 120,65 152 69,85 136 48 26 17,5 M16x50  5/8x2" 4387
34 FBM3-5688 3"1/2 90,0 82 120,65 152 69,85 136 48 26 17,5 M16x50  5/8x2" 4387
FBM3-64 4" 77,0 70 130,18 162 77,77 146 48 26 17,5 M16x50  5/8x2" 4437
FBM3-6488 4" 90,0 82 130,18 162 77,77 146 48 26 17,5 M16x50  5/8x2" 4437
6000 psi
FBM6-08 1/2" 20,0 14 40,49 57 18,24 46 34 16 9 M8x30 5/16x1"1/4 4075
FBM6-12 3/4" 20,0 14 50,80 7 23,80 59 85) 21 11 M10x40 3/8x1"1/2 4100
FBM6-1225 3/4" 25,0 17 50,80 71 23,80 55) 85) 21 11 M10x40 3/8x1"1/2 4100
FBM6-16 1" 25,0 19 57,15 81 27,76 65 42 25 13 M12x45 7/16x1"3/4 4131
414  FBM6-1630 1" 30,0 22 57,15 81 27,76 65 42 25 13 M12x45 7/16x1"3/4 4131
FBM6-20 1"1/4 38,0 28 66,68 95 SING; 78 44 25 15 M14x45 1/2x1"3/4 4150
FBM6-24 1"1/2 38,0 28 79,38 112 36,50 94 56 28 17 M16x50  5/8x2" 4187
FBM6-32 2" 61,0 40 96,82 134 44,45 114 65 37 21 M20x70 3/4x2"1/2 4225
FBM6-40 2"1/2 76,6 50 123,80 180 58,70 152 80 45 26 M24x80 4275

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange FBM...08
®naHey B komnsekte ¢ Gontamn UNC, waiitbamm 1 ynnoTHNTENbHbIM KOS

' FBM....08U

Complete flange with UNC screws, waschers and o'ring

®naHeL| B KOMNIEKTE C METPUYECKUMU GonTamu, Wwaiibamu 1 ynnoTHuTes FBM....08M
Complete flange with metric screws, waschers and o'ring

39 -1



¥l mimm

il iy press ;:T

CcBM3
[MprBapHasa oTBeTHas YacTb
CBM6 naHua nog metpuyeckyto Tpyby ¢ 5
G

unnnHapn4ecknm otBepctmem =
Metric Pipe Cylindric Hole Weld On Counter- T - c

O

'1.
max
pressure | part number Metric Unc

307

sizel A | B] Cc |DJ] E_| F | G | H_ | __M___

3000 psi
345 CBM3-12 3/4" 25,0 19 47,63 65 22,23 50 36 18 M10 3/8
CBM3-16 1" 30,0 22 52,37 70 26,19 55 38 18 M10 3/8
276 CBM3-20 1"1/4 38,0 30 58,72 79 30,18 68 41 21 M10 7/16
CBM3-24 1"1/2 42,0 36 69,85 93 35,71 78 45 25 M12 1/2
207 CBM3-2448 1"1/2 49,0 38 69,85 93 35,71 78 45 25 M12 1/2
CBM3-32 2" 49,0 42 77,77 102 42,88 90 45 25 M12 1/2
CBM3-3260 2" 61,0 49 77,77 102 42,88 90 45 25 M12 12
172 CBM3-40 2"1/2 77,0 62 88,90 114 50,80 105 50 25 M12 1/2
138 CBM3-48 &’ 77,0 70 106,38 134 61,93 124 51 26 M16 5/8
CBM3-4876 &’ 77,0 62 106,38 134 61,93 124 51 26 M16 5/8
CBM3-56 3"1/2 77,0 70 120,65 152 69,85 136 48 26 M16 5/8
34 CBM3-5688 3"1/2 90,0 82 120,65 152 69,85 136 48 26 M16 5/8
CBM3-64 4" 77,0 70 130,18 162 77,77 146 48 26 M16 5/8
CBM3-6488 4" 90,0 82 130,18 162 77,77 146 48 26 M16 5/8
6000 psi
CBM6-08 1/2" 20,0 14 40,49 57 18,24 46 34 16 M8 5/16
CBM6-12 3/4" 20,0 14 50,80 7 23,80 55 35 21 M10 3/8
CBM6-1225 3/4" 25,0 17 50,80 7 23,80 55 35 21 M10 3/8
CBM6-16 1" 25,0 19 57,15 81 27,76 65 42 25 M12 7116
CBM6-1630 1" 30,0 22 57,15 81 27,76 65 42 25 M12 7116
414 CBM6-20 1"1/4 38,0 28 66,68 95 SING; 78 44 25 M14 1/2
CBM6-2026 1"1/4 38,0 26 66,68 95 31,75 78 44 25 M14 1/2
CBM6-24 1"1/2 38,0 28 79,38 112 36,50 94 56 28 M16 5/8
CBM6-2432 1"1/2 48,6 32 79,38 112 36,50 94 56 28 M16 5/8
CBM6-32 2" 61,0 40 96,82 134 44,45 114 65 37 M20 3/4
CBM6-40 2"1/2 76,6 50 123,80 180 58,70 152 80 45 M24

Kak 3akasaTb / How to Order:

OTBeTHas 4acTb (hnaHLa Noa CoeaMHeHNe METPUYECKMMM GonTamn
Counter flange with metric tapholes

CBM...08

OtBeTHas YacTb chnaHua nog coeguHeHne Gontamm UNC
Counter flange with UNC tapholes

CBM...08U

40 - |



BB03
BB06

max
pressure

345
276
207

414

375
320

®naHey npuBapHomn 90°

Weld On 90° Flanges

part number

3000 psi

BB03-12
BB03-16
BB03-20
BB03-24
BB03-32

6000 psi

BB06-12
BB06-16
BB06-20
BB06-24

3/4"
1
1"1/4
1"1/2
on

3/4"
1
1"1/4
1"1/2

27,2
34,5
43,0
50,0
65,0

28,0
34,0
42,0
48,0

19
23
31
35
48

19
25
32
38

47,63
52,37
58,72
69,85
77,77

50,80
57,15
66,68
79,38

70
75
86
97
100

71
81
95
113

22,23
26,19
30,18
35,71
42,88

23,80
27,76
31,75
36,50

63
72
82
92
99

70
82
95
115

23,0
25,0
27,0
31,5
37,5

22,0
27,0
32,0
40,0

21
24
25
29
50

19
24
27
30

11,0
11,0
11,5
14,0
14,0

11
13
15
17

Kak 3akasatb / How to Order:

Tonbko cnaneu, / Only Flange

41
48
54
57
63

40
47
56
68

sizel A | B ] Cc | D] E | F |G| H]L]| N__|Metic] Unc_ |iypel

M10x40 - 3100
M10x40 — 4112
M10x45 - 4150
M12x60 — 4187
M12x70 - 4225

M10x35 3/8x1"1/2 4100
M12x45 7/16x1"3/4 4131
M14x45 1/2x1"3/4 4150
M16x55  5/8x2" 4187

BBO...12

®naHel, B komnnekte ¢ 6ontamu UNC, wanbamu 1 ynnoTHUTENbHbLIM KOX
BBO....12U

Complete flange with UNC screws, waschers and o'ring

®dnaHey B KOMN/eKTe ¢ MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes
BBO....12M

Complete flange with metric screws, waschers and o'ring

41 -1



PEEERY, e S A wr MM,

diiedy e = — wii
NBO3 ®naHey npuBapHomn 90°
N806 G 8]
H
Screws o —"
Weld On 90° Flanges =
- | N
- | i
i
AN
WORing
I |
i
B -

part number “ Screws m

sizel A | B Cc | D] E | F |G| H/| I | L[N |Meticl| Unc_ liypel

3000 psi
NBO03-08 1/2" 215 13 38,10 54 17,48 60 200 16 160 9 37 M8x30 5/16x1"1/4 4075
345 NB03-0806 1/2" 17,5 13 38,10 54 17,48 60 200 16 16,0 9 37 M8x30 5/16x1"1/4 4075
NB03-12 3/4" 27,0 19 47,63 65 22,23 63 240 18 16,0 11 38 M10x35 3/8x1"1/2 4100
NB03-16 1" 34,5 25 52,37 70 26,19 70 280 19 190 M1 43 M10x35 3/8x1"1/2 4131
276  NB03-20 1"1/4 42,8 32 58,72 79 30,18 85 340 21 210 12 51 M10x40 7/16x1"3/4 4150
207 NB03-24 1"1/2 48,6 38 69,85 93 35,71 95 380 25 210 14 56 M12x45 1/2x1"3/4 4187
NBO03-32 2" 61,0 51 77,77 110 42,88 110 420 25 150 14 65 M12x45 1/2x1"3/4 4225
6000 psi
NB06-0808 1/2" 215 13 40,49 54 18,24 60 200 16 160 9 37 M8x30 5/16x1"1/4 4075
NB06-0806 1/2" 17,5 13 40,49 54 18,24 60 200 16 16,0 9 37 M8x30 5/16x1"1/4 4075
NB06-12 3/4" 28,0 19 50,80 70 23,80 70 280 19 17,0 11 43 M10x40 3/8x1"1/2 4100
NB06-16 1" 34,0 25 57,15 79 27,76 8 340 21 19,0 13 51 M12x45 7/16x1"3/4 4131
414  NB06-20 1"1/4 42,8 32 66,68 93 31,75 95 380 25 19,0 15 56 M14x45 1/2x1"3/4 4150
NB06-24 1"1/2 48,6 38 79,38 110 36,50 110 42,0 25 240 17 65 M16x50 5/8x2" 4187
NBO06-32 2" 61,0 51 96,82 134 44,45 132 450 35 18,0 21 75 M20x70 3/4x2"1/2 4225
NB06-3260 2" 61,0 40 96,82 134 44,45 132 450 35 18,0 21 75 M20x70 3/4x2"1/2 4225
NB06-3276 2" 76,0 50 96,82 134 44,45 132 450 35 18,0 21 75 M20x70 3/4x2"1/2 4225

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange NBO...08
®naHey B komnsekte ¢ Gontamn UNC, waiitbamm 1 ynnoTHNTENbHbIM KOS

' NBO....08U

Complete flange with UNC screws, waschers and o'ring

®naHeL| B KOMNIEKTE C METPUYECKUMU GonTamu, Wwaiibamu 1 ynnoTHuTes NBO....08M
Complete flange with metric screws, waschers and o'ring

42 -1



rrIm . mw
it ypress [J§ 2l mimm.
FCO03 3 o
arnyuwka gaHueBasd
Fcoe -
Blind Flanges D
Screws H f e
(e
-l Wt |
O'Rin /

max
pressure | part number

szel .c | o | __E_ | F | _H | L __|Metic|l Unc_liype

3000 psi
FC03-08 1/2" 38,10 56 17,48 46 16 9,0 M8x30 5/16x1"1/4 4075
345 FC03-12 3/4" 47,63 65 22,23 50 18 11,0 M10x35 3/8x1"1/2 4100
FC03-16 1" 52,37 70 26,19 60 19 11,0 M10x35 3/8x1"1/2 4131
276 FC03-20 1"1/4 58,72 79 30,18 68 18 11,5 M10x40 7/16x1"3/4 4150
207 FC03-24 1"1/2 69,85 93 35,71 78 20 13,5 M12x45 1/2x1"3/4 4187
FC03-32 2" 77,77 102 42,88 90 20 13,5 M12x45 1/2x1"3/4 4225
172  FC03-40 2"1/2 88,90 114 50,80 105 20 13,5 M12x45 1/2x1"3/4 4275
138 FC03-48 &’ 106,38 134 61,93 124 24 17,5 M16x50  5/8x2" 4337
34 FC03-56 3"1/2 120,65 152 69,85 136 22 17,5 M16x50 5/8x2" 4387
FC03-64 4" 130,18 162 77,77 146 25 17,5 M16x50 5/8x2" 4437
6000 psi
FC06-08 1/2" 40,49 56 18,24 48 16 9 M8x30 5/16x1"1/4 4075
FC06-12 3/4" 50,80 71 23,80 60 19 1 M10x35 3/8x1"1/2 4100
FC06-16 1" 57,15 81 27,76 70 24 13 M12x45 7/16x1"3/4 4131
414 FC06-20 1"1/4 66,68 95 31,75 78 27 15 M14x45 1/2x1"3/4 4150
FC06-24 1"1/2 79,38 112 36,50 94 30 17 M16x50  5/8x2" 4187
FC06-32 2" 96,82 134 44,45 114 30 21 M20x60 3/4x2"1/2 4225
FC06-40 2"1/2 123,80 180 58,70 152 45 26 M24x80 - 4275
FC06-48 &’ 152,40 208 71,40 178 55 33 M30x100 - 4337

Kak 3akasaTb / How to Order:
Tonbko conare / Only Flange FCO0...08
®naHel, B komnnekte ¢ 6ontamu UNC, wanbamu 1 ynnoTHUTENbHbLIM KOX

FCO....08U

Complete flange with UNC screws, waschers and o'ring

®dnaHey B KOMN/eKTe ¢ MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes ECO....08M
Complete flange with metric screws, waschers and o'ring

43 -1



max
pressure | part number

345

276
207

172
138

34

414

3arnyu.||<a donaHua, OTBETHas YacTb

Blind Counter-Flanges

3000 psi

CC03-08
CC03-12
CC03-16
CC03-20
CC03-24
CC03-32
CC03-40
CC03-48
CC03-56
CC03-64

6000 psi

CC06-08
CC06-12
CC06-16
CC06-20
CC06-24
CC06-32
CC06-40
CC06-48

szel _.c | 0 | __E | __F_ |

172"
3/4"
1
1"1/4
1"1/2
on
2"1/2
3"
3"1/2
4

172"
3/4"
1
1"1/4
1"1/2
on
2"1/2
3"

38,10
47,63
52,37
58,72
69,85
77,77
88,90
106,38
120,65
130,18

40,49
50,80
57,15
66,68
79,38
96,82
123,80
152,40

56
65
70
79
93
102
114
134
152
162

56
71
81
95
112
134
180
208

17,48
22,23
26,19
30,18
35,71
42,88
50,80
61,93
69,85
77,77

18,24
23,80
27,76
31,75
36,50
44,45
58,70
71,40

0O |0

\O@

46 16 M8x30

50 18 M10x35
60 19 M10x35
68 18 M10x40
78 20 M12x45
90 20 M12x45
105 20 M12x45
124 24 M16x50
136 22 M16x50
146 25 M16x50
48 16 M8x30

60 19 M10x35
70 24 M12x45
78 27 M14x45
94 30 M16x50
114 30 M20x60
152 45 M24x100
178 55 M30x100

Kak 3akasaTb / How to Order:

OTBeTHas 4acTb (hnaHLa Noa CoeaMHeHNe METPUYECKMMM GonTamn
Counter flange with metric tapholes

OtBeTHas YacTb chnaHua nog coeguHeHne Gontamm UNC
Counter flange with UNC tapholes

.

5/16
3/8
3/8

7116
12
1/2
12
5/8
5/8
5/8

5/16
3/8
7116
12
5/8
3/4

CCO0...08

CCO0...08U

44 -1




N Flanges Yl imimm |
S003

Monyckoba dnaHua pasfeneHHas screws

Cut Split Flanges

Screws

max
part number E
L bar | sizel AL B L C LD L E L F LG L H L L Vetic L une L

3000 psi
S003-08 1/2"
345 S003-12 3/4"
S003-16 1"
276  S003-20 1"1/4
S003-24 1"1/2
207 S003-32 2"
172  S003-40 2"1/2
138  S003-48 3"
34 S003-56 3"1/2
S003-64 4"
6000 psi
S006-08 1/2"
S006-12 3/4"
S006-16 1"
414 S006-20 1"1/4
S006-24 1"1/2
S006-32 2"

3ameTkn / Notes:

[JaHHbIN NpoayKT npodaeTcs No-4acTam

This product is sold by pairs

30,96
38,89
45,24
51,59
61,09
72,24
84,94
102,39
1151

127,79

32,54
42,06
48,41
54,76
64,29
80,16

24,26
32,13
38,48
43,69
50,80
62,74
74,93
90,93
102,36
115,06

24,64
32,51
38,86
44,45
51,56
67,56

38,10
47,63
52,37
58,72
69,85
77,77
88,90
106,38
120,65
130,18

40,49
50,80
57,15
66,68
79,38
96,82

54
65
70
79
94
102
114
135
152
162

56
71
81
95
113
133

8,74 228 19 13 6,22 8,75 M8x30 5/16x1"1/4
11,13 259 22 14 6,22 10,75 M10x35 3/8x1"1/2
13,08 292 24 16 7,49 10,75 M10x35 3/8x1"1/2
15,09 36,3 22 14 7,49 12,00 M10x35 -
17,86 411 25 16 7,49 13,50 M12x35 -
21,44 48,2 26 16 9,02 13,50 M12x35 -
25,40 541 38 19 9,02 13,50 M12x40 1/2x1"3/4
30,96 653 41 22 9,02 17,00 M16x50  5/8x2"
34,92 69,5 28 22 10,72 17,00 M16x50 5/8x2"
38,88 76,0 35 25 10,72 17,00 M16x50  5/8x2"
9,12 236 22 16 7,24 8,75 M8x30 5/16x1"1/4
11,91 30,0 28 19 8,26 11,00 M10x35 3/8x1"1/2
13,89 348 33 24 9,02 13,00 M12x45 -
15,88 386 38 27 978 1500 -
18,26 47,5 43 30 12,07 17,00 M16x50 5/8x2"
22,23 56,9 52 37 12,07 21,00 M20x70 3/4x2"1/2

Kak 3akasaTtb / How to Order:

Tonbko conare / Only Flange S00...08

®naHel, B komnnekte ¢ 6ontamu UNC, wanbamu 1 ynnoTHUTENbHbLIM KOX S00....08U
Complete flange with UNC screws, waschers and o'ring

®dnaHey B KOMNJeKTe C MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes S00....08M
Complete flange with metric screws, waschers and o'ring

45 -1



Uncut Split Flanges

part number

345

276
207

172
138

34

414

3000 psi

S103-08
S103-12
S103-16
S103-20
S103-24
S103-32
S103-40
S103-48
S103-56
S103-64

6000 psi

S106-08
S106-12
S106-16
S106-20
S106-24
S106-32

1

" 1] e ——
Mk ypress [ S Flange 2l mimm
S103 n 6a b : - E »
OJTyCKOOa (priaHUua cABOEHHa4A S CTEWS =
Si06 e

i~

.

Screws

sizel A | 8B | c | D] E | F |G| H] I [ L [Metic] Uc | |

172"
3/4"
1
1"1/4
1"1/2
on
2"1/2
3"
3"1/2
4

172"
3/4"
1
1"1/4
1"1/2
on

30,96
38,89
45,24
51,59
61,09
72,24
84,94
102,39
1151

127,79

32,54
42,06
48,41
54,76
64,29
80,16

24,26
32,13
38,48
43,69
50,80
62,74
74,93
90,93
102,36
115,06

24,64
32,51
38,86
44,45
51,56
67,56

38,10
47,63
52,37
58,72
69,85
77,77
88,90
106,38
120,65
130,18

40,49
50,80
57,15
66,68
79,38
96,82

54
65
70
79
94
102
114
135
152
162

56
71
81
95
113
133

17,48
22,23
26,19
30,18
35,71
42,88
50,80
61,93
69,85
77,77

18,24
23,80
27,76
31,75
36,50
44,45

Kak 3akasatb / How to Order:

Tonbko cnaneu, / Only Flange

45,6
51,8
58,4
72,6
82,2
96,4
108,2
130,6
139,0
152,0

47,2
60,0
69,6
77,2
95,0
113,8

19
22
24
22
25
26
38
41
28
35

22
28
33
38
43
52

13
14
16
14
16
16
19
22
22
25

16
19
24
27
30
37

6,22
6,22
7,49
7,49
7,49
9,02
9,02
9,02
10,72
10,72

7,24
8,26
9,02
9,78
12,07
12,07

8,75
10,75
10,75
12,00
13,50
13,50
13,50
16,75
17,00
17,00

8,75
11,00
13,00
15,00
17,00
21,00

M8x30 5/16x1"1/4
M10x35 3/8x1"1/2
M10x35 3/8x1"1/2
M10x35 —
M12x35 ===
M12x35 —
M12x40 1/2x1"3/4
M16x50  5/8x2"
M16x50  5/8x2"
M16x50  5/8x2"

M8x30 5/16x1"1/4
M10x35 3/8x1"1/2
M12x45 —
M14x45 -
M16x50  5/8x2"
M20x70 3/4x2"1/2

SI0...08

®naHey B komnsekte ¢ Gontamn UNC, waiitbamm 1 ynnoTHNTENbHbIM KOS S10....08U
Complete flange with UNC screws, waschers and o'ring

®naHeL| B KOMNIEKTE C METPUYECKUMU GonTamu, Wwaiibamu 1 ynnoTHuTes SI0....08M
Complete flange with metric screws, waschers and o'ring

46 - |



iHypess || T — ] 1M,

SO0P3 n 6a b
J10CKagd noJ1yCKooba qriaHua pasgenet
SOPG S::rews_\

Cut Flat Split Flanges

o
max
pressure | part number
[ bar | szel A | 8B | c D] E | F|lH[ I [ L |Metic|l Unc | |
3000 psi
S0P3-08 1/2" 30,96 24,26 38,10 54 8,74 228 13 6,22 8,75 M8x30 5/16x1"1/4
345 S0P3-12 3/4" 38,89 32,13 47,63 65 11,13 259 14 6,22 10,75 M10x35 3/8x1"1/2
SO0P3-16 1" 45,24 38,48 52,37 70 13,08 29,2 16 7,49 10,75 M10x35 3/8x1"1/2
276  S0P3-20 1"1/4 51,59 43,69 58,72 79 15,09 36,3 16 7,49 12,00 M10x35 -
207 S0P3-24 1"1/2 61,09 50,80 69,85 94 17,86 411 16 7,49 13,50 M12x35 -
S0P3-32 2" 72,24 62,74 77,77 102 21,44 48,2 16 9,02 13,50 M12x35 -
6000 psi
S0P6-08 1/2" 32,54 24,64 40,49 56 9,12 236 16 7,24 8,75 M8x30 5/16x1"1/4
S0P6-12 3/4" 42,06 32,51 50,80 71 11,91 30,0 19 8,26 11,00 M10x35 3/8x1"1/2
414 S0P6-16 1" 48,41 38,86 57,15 81 13,89 348 24 9,02 13,00 M12x45 -
S0P6-20 1"1/4 54,76 44,45 66,68 95 15,88 386 27 9,78 15,00 M14x45 -
S0P6-24 1"1/2 64,29 51,56 79,38 113 18,26 47,5 30 12,07 17,00 M16x50  5/8x2"
S0P6-32 2" 80,16 67,56 96,82 133 22,23 56,9 37 12,07 21,00 M20x70 3/4x2"1/2

Kak 3akasaTtb / How to Order:

Tonbko conare / Only Flange SOP...08
3ameTtku / Notes: dnaHe, B komnnekTe ¢ Gontamu UNC, wainbamu 1 ynioTHUTENbHBIM KOS SOP....08U
ﬂaHHbIVI npoayKT npofaeTcs no-4acTsim Complete flange with UNC screws, waschers and o'ring
This product is sold by pairs dnaHeL| B KOMMNEKTE C MeTPU4ECKkUMI 6onTamm, Waibamm 1 ynroTHUTE SOP.....08M

Complete flange with metric screws, waschers and o'ring

47 -1



ne
J-EAY
siiky yfpress

Irw
.

SIP3
SIP6

max
part number ﬁ
L bar | sizel AL B L C LD L e F L H L L

345

276
207

414

Mnockas nonyckoba dpnaHua caBoeHHas!

Uncut Flat Split Flanges

3000 psi

SIP3-08
SIP3-12
SIP3-16
SIP3-20
SIP3-24
SIP3-32

6000 psi

SIP6-08
SIP6-12
SIP6-16
SIP6-20
SIP6-24
SIP6-32

172"
3/4"
1
1"1/4
1"1/2
on

172"
3/4"
1
1"1/4
1"1/2
on

30,96
38,89
45,24
51,59
61,09
72,24

32,54
42,06
48,41
54,76
64,29
80,16

24,26
32,13
38,48
43,69
50,80
62,74

24,64
32,51
38,86
44,45
51,56
67,56

38,10
47,63
52,37
58,72
69,85
77,77

40,49
50,80
57,15
66,68
79,38
96,82

Screws

54
65
70
79
94
102

56
71
81
95
113
133

17,48
22,23
26,19
30,18
35,71
42,88

18,24
23,80
27,76
31,75
36,50
44,45

45,6
51,8
58,4
72,6
82,2
96,4

47,2
60,0
69,6
77,2
95,0
113,8

13
14
16
16
16
16

16
19
24
27
30
37

6,22
6,22
7,49
7,49
7,49
9,02

7,24
8,26
9,02
9,78
12,07
12,07

Kak 3akasatb / How to Order:

Tonbko cnaneu, / Only Flange

8,75
10,75
10,75
12,00
13,50
13,50

8,75
11,00
13,00
15,00
17,00
21,00

M8x30 5/16x1"1/4
M10x35 3/8x1"1/2
M10x35 3/8x1"1/2
M10x40 —
M12x35 ===
M12x35 —

M8x30 5/16x1"1/4
M10x35 3/8x1"1/2
M12x45 —
M14x45 -
M16x50  5/8x2"
M20x60 3/4x2"1/2

SIP...08

®naHel, B komnnekte ¢ 6ontamu UNC, wanbamu 1 ynnoTHUTENbHbLIM KOX SIP....08U
Complete flange with UNC screws, waschers and o'ring e

®dnaHey B KOMN/eKTe ¢ MeTpuieckumm Gontamu, Wwainbamm n ynnoTHUTes SIP....08M
Complete flange with metric screws, waschers and o'ring

48 -1



T ypress | R L LT — ) MM

EBM3 MpuBapHoOM doraHueBbIN

EBM6 apantep nog metpuyeckyto

TPyBy - E
Weld On Adapters for Metric Tube 20
o <|
|
TIPO A TIPO B

max
pressure | part number

sizel A | 8 | _c | o | __E_ | __F___luype

3000 psi
EBM3-08 1/2" 16,0 12 30,2 24,0 41 6,73 4075
345 EBM3-12 3/4" 25,0 19 38,1 32,0 50 6,73 4100
EBM3-16 1" 30,0 22 44,4 38,0 50 8,00 4131
276 EBM3-20 1"1/4 38,0 28 50,8 43,0 55) 8,00 4150
207 EBM3-24 1"1/2 45,0 35 60,3 50,0 57 8,00 4187
EBM3-32 2" 60,0 50 71,4 62,0 57 9,53 4225
172 EBM3-40 2"1/2 70,0 55 84,1 74,0 58 9,63 4275
138 EBM3-48 &’ 80,0 68 101,6 90,0 60 9,53 4337
24 EBM3-56 3"1/2 100,0 89 114,3 102,0 80 11,20 4387
EBM3-64 4" 114,3 99 127,0 114,3 80 11,20 4437
6000 psi
EBM6-08 1/2" 16,0 12 31,8 24,0 34 7,75 4075
EBM6-12 3/4" 25,0 18 41,3 32,0 38 8,76 4100
414 EBM6-16 1" 30,0 22 47,6 38,0 40 9,53 4131
EBM6-20 1"1/4 38,0 27 54,0 44,0 45 10,29 4150
EBM6-24 1"1/2 45,0 32 63,5 51,0 50 12,57 4187
EBM6-32 2" 60,0 45 79,4 67,0 58 12,57 4225

Kak 3akasaTb / How to Order:

ApanTep ¢ nazom nop ynnoTHUTenbHoe konbuo (Tun A)
Adapter with o-ring groove (Type A)

EBM...08

ApanTep 6e3 nasa nog ynnotHuTensHoe konbLio (Tun B)
Adapter without o-ring groove (Type B)

EBM...08B

49 - |



iHypess || T — ] 1M,

EBO03 y y
MpuBapHoOM doraHueBbIN
EBO06 apantep

E
Weld On Adapters 20
o < 1
——
TIPO A TIPO B

max
pressure | part number

sizel A | 8 | _c | o | __E_ | __F___luype

3000 psi
EB03-08 1/2" 21,5 13 30,2 24 41 6,73 4075
345 EB03-12 3/4" 28,0 19 38,1 32 50 6,73 4100
EB03-16 1" 34,0 25 44,4 38 50 8,00 4131
276  EBO03-20 1"1/4 42,8 32 50,8 43 55) 8,00 4150
207 EB03-24 1"1/2 48,6 38 60,3 50 57 8,00 4187
EB03-32 2" 61,0 51 71,4 62 57 9,53 4225
6000 psi
EB06-08 1/2" 21,5 13 31,8 24 34 7,75 4075
EB06-12 3/4" 28,0 19 41,3 32 38 8,76 4100
414 EB06-16 1" 34,0 25 47,6 38 40 9,53 4131
EB06-20 1"1/4 42,8 32 54,0 44 45 10,29 4150
EB06-24 1"1/2 48,6 38 63,5 51 50 12,57 4187
EB06-32 2" 61,0 51 79,4 67 58 12,57 4225

Kak 3akasaTb / How to Order:

ApanTep ¢ nazom nop ynnoTHUTenbHoe konbuo (Tun A)
Adapter with o-ring groove (Type A)

EBO...08

ApanTep 6e3 nasa nog ynnotHuTensHoe konbLio (Tun B)
Adapter without o-ring groove (Type B)

EBO...08B

50 -1



- ':'Lrw Il m.& AN

EOK3 y
®dnaHueBbI aganTep, pe3bba
EOK6 BSPT

BSP Tapered Threaded Adapters

TIPO B

part number “m

sizel A | 8 | __c | D0 | E | _F | __CH_ __liype]

3000 psi
EO0K3-08 1/2" 1/2" - BSPT 12 30,2 24 50 6,73 19 4075
345 EO0K3-12 3/4" 3/4" - BSPT 17 38,1 32 55 6,73 27 4100
EOK3-16 1" 1"- BSPT 22 44,4 38 60 8,00 32 4131
276 EO0K3-20 1"1/4 1"1/4 - BSPT 27 50,8 43 65 8,00 41 4150
207 EO0K3-24 1"1/2 1"1/2 - BSPT 32 60,3 50 70 8,00 46 4187
EO0K3-32 2" 2"-BSPT 40 71,4 62 75 9,53 55 4225
6000 psi
EO0K6-08 1/2" 1/2" - BSPT 12 31,8 24 50 7,75 19 4075
EO0K6-12 3/4" 3/4" - BSPT 17 41,3 32 60 8,76 26 4100
414 EO0K6-16 1" 1"-BSPT 22 47,6 38 70 9,53 32 4131
EO0K6-20 1"1/4 1"1/4 - BSPT 27 54,0 44 75 10,29 36 4150
EO0K6-24 1"1/2 1"1/2 - BSPT 32 63,5 51 80 12,57 41 4187
EO0K6-32 2" 2" - BSPT 40 79,4 67 90 12,57 55 4225

Kak 3akasaTb / How to Order:

ApanTep ¢ nazom nop ynnoTHUTenbHoe konbuo (Tun A) EOK...08
Adapter with o-ring groove (Type A) o

ApanTep 6e3 nasa nog ynnotHuTensHoe konbLio (Tun B)
Adapter without o-ring groove (Type B) EOK...08B

51 -1



miHypress [IF  FlangesA Yl rmimm

EOD3 y
dnaHueBbIM aganTep,
EOD6 wmetpuyeckmin DIN 3901-3902

DIN 3901-3902 Metric Threaded Adapters

max
e p—— [
| bar | sizel A Jtypel B | ¢ JEJ F | 1 | s | _CH _ltype
3000 psi

315 EOD3-0815 1/2"  M22x1,5 L 12 30,2 48 6,73 7,0 15 24 4075
350 EOD3-0816 1/2"  M24x1,5 S 12 30,2 50 6,73 8,5 16 24 4075
315 EOD3-1218 3/4"  M26x1,5 L 15 38,1 53 6,73 7,5 18 30 4100
160 E0D3-1222 3/4" M30x2 L 19 38,1 53 6,73 7,5 22 30 4100
350 E0D3-1220 3/4" M30x2 S 16 38,1 57 6,73 10,5 20 30 4100
EOD3-1225 3/4" M36x2 S 17 38,1 57 6,73 12,0 25 30 4100
160 E0D3-1622 1" M30x2 L 19 44,4 56 8,00 7,5 22 27 4131
E0D3-1628 1" M36x2 L 24 44,4 54 8,00 7,5 28 36 4131
350 E0D3-1625 1" M36x2 S 20 44,4 58 8,00 12,0 25 36 4131
EOD3-1630 1" M42x2 S 24 44,4 63 8,00 13,5 30 36 4131
160 E0D3-2028 1"1/4 M36x2 L 22 50,8 58 8,00 7,5 28 36 4150
E0D3-2035 1"1/4 M45x2 L 30 50,8 58 8,00 10,5 35 41 4150
E0D3-2025 1"1/4 M36x2 S 20 50,8 60 8,00 12,0 25 41 4150
280 EOD3-2030 1"1/4 M42x2 S 25 50,8 62 8,00 13,5 30 41 4150
E0D3-238 1"1/4 M52x2 S 28 50,8 66 8,00 16,0 38 41 4150
160 EOD3-2442 1"1/2 M52x2 L 36 60,3 64 8,00 11,0 42 46 4187
210 EOD3-2438 1"1/2 M52x2 S 32 60,3 70 8,00 16,0 38 46 4187
6000 psi
E0D6-0816 1/2"  M24x1,5 S 12 31,8 53 7,75 8,5 16 24 4075
EOD6-1216 3/4"  M24x1,5 S 12 41,3 59 8,76 8,5 16 30 4100
E0D6-1220 3/4" M30x2 S 16 41,3 61 8,76 10,5 20 30 4100
EO0D6-1225 3/4" M36x2 S 17 41,3 63 8,76 12,0 25 30 4100
400 E0D6-1230 3/4" M42x2 S 18 41,3 64 8,76 13,5 30 36 4100
EO0D6-1625 1" M36x2 S 20 47,6 72 9,53 12,0 25 36 4131
EOD6-1630 1" M42x2 S 24 47,6 74 9,53 13,5 30 36 4131
E0D6-2030 1"1/4 M42x2 S 25 54,0 79 10,29 13,5 30 41 4150
E0D6-2038 1"1/4 M52x2 S 30 54,0 83 10,29 16,0 38 46 4150
EO0D6-2438 1"1/2 M52x2 S 30 63,5 89 12,57 16,0 38 46 4187

Kak 3akasaTb / How to Order:
Tonbko cnanrew, / Only Flange EOD...18

52 -1



MHypress || S ——y 2l mmmm.

MDD0 ®naHuesbI agantep,
meTpuyeckun DIN 2353

Serews | L T

DIN 2353 Metric Threaded Straight
Connectors

max
pressure part number Screws

“-_-n-—nn—

315 MDD0-3510 M16x1,5 8 6,4 M6x20 3075
MDDO0-3512 35 10 12 39 12 M18x1.5 8 30 6,4 M6x20 3075
MDD0-3515 35 12 12 39 15 M22x1.5 8 30 6,4 M6x20 3075

250 MDDO0-3516 35 12 12 39 16 M24x1.5 8 30 6,4 M6x20 3075
MDD0-3518 35 12 12 39 18 M26x1.5 8 30 6,4 M6x20 3075
MDDO0-4015 40 12 19 42 15 M22x1.5 8 35 6,4 M6x20 132

100 MDD0-4018 40 15 19 42 18 M26x1.5 8 35 6,4 M6x20 132
MDDO0-4022 40 19 19 42 22 M30x2 8 35 6,4 M6x20 132
MDD0-4028 40 20 20 42 28 M36x2 8 42 6,4 M6x20 132

Kak 3akasaTb / How to Order:
Tonbko cnanrew, / Only Flange MDD...10

mnaHeu B KOMMEeKTe C METPUYECKUMN GOJ'ITEMVI, wanbamu n ynnotHures MDD 10M
Complete flange with metric screws, waschers and o'ring e

53 -1



TiHypress |1 T — ] 1T

G4D0 naHuesbin agantep 90°,
meTpuka DIN 2353, 4

duKcnpyowmx oTBEPCTUS
DIN 2353 Metric Threaded 90° Connectors
with 4 Fixing Holes

max
pressure

Dimensions
part number

“-__--nl:l-
300 G4D0-3510 M16x1,5 41,5 N.2 M6x35 3075
N.2 M6x20
250 G4D0-3515 M22x1.5 41,5 N.2 M6x35 3075
N.2 M6x20
250 G4D0-3518 M26x1.5 41,5 N.2 M6x35 3075
N.2 M6x20
100 G4D0-4018 M26x1.5 41,5 N.2 M6x45 132
N.2 M6x20

Kak 3akasaTb / How to Order:
Tonbko cnanrew, / Only Flange G4D0...10

mﬂaHeLl B KOMMEeKTe C METPUYECKUMN GOJ'ITEMM wanbamu n ynnotHures G4D0 1 OM
Complete flange with metric screws, waschers and o'ring

Fluid Power Care 54 -1 IMM Group



My press | S L T e & | 1T MM,

GA4G0 PnaHuesbin agantep 90°,
BSP, 4 doukcupyowwmx

oTBEepCTUA
BSP Threaded 90° Connectors with 4 Fixing
Holes

Screws

max
pressure

Dimensions
part number
_-__-_ -_-

300 G4G0-3506 3/8"GAS N.2 M6x35 3075
N.2 M6x20

300 G4G0-4008 1/2"GAS N.2 M6x45 132
N.2 M6x20

Kak 3akasaTb / How to Order:
Tonbko cnanrew, / Only Flange G4G0...12

mﬂaHeLl B KOMMEeKTe C METPUYECKUMN GOJ'ITaMVI wanbamu n ynnotHures G4G0 2M
Complete flange with metric screws, waschers and o'ring

Fluid Power Care 55 -1 IMM Group



Mitypres || S T — | 1T

G3G0 Aagantep 90°, 3 pukcMpyroLmx
OTBEpCTMS

Pump Elbows With Three Fixing Holes

max
pressure

Dimensions

Screws

part number

_-_-“-_--
300 G3G0-2606 0,5 3/8" GAS M5x20 2056
___-___-_-
300  G3GO-3006 10 3/8" GAS Mx20 121
_—___-___-_-
300 G3G0-4008 2,0 1/2" GAS 19 M8x25A 132
___-___-_-
300 G3G0-5112 3,0 3/4" GAS 10,5 M10x30A 3125
___-___-_-
300 G3G0-5612 3,0 3/4" GAS 10,5 M10x30A 3125

Kak 3akasaTb / How to Order:
Tonbko cnanrew, / Only Flange G3G0...08

mﬂaHeLl B KOMMEeKTe C METPUYECKUMN GOJ'ITaMVI wanbamu n ynnotHures G3G0 08M
Complete flange with metric screws, waschers and o'ring

Fluid Power Care 56 -1 IMM Group



L
i

aillvim,

Habop dpnaHua SAE - (MeTpuka)*

Kit for SAE flange - (Metric)*

part number m
-M

3000 psi

SCM3-08
SCM3-12
SCM3-16
SCM3-20
SCM3-24
SCM3-32
SCM3-40
SCM3-48
SCM3-56
SCM3-64

6000 psi

SCM6-08
SCM6-12
SCM6-16
SCM6-20
SCM6-24
SCM6-32
SCM6-40
SCM6-48

172"
314"
=
1"1/4
1"/2
2
2'1/2
3
3172
7

12"
3/4"
1"
1"1/4
1"1/2
o
2"1/2
3"

NI i
@ty
1

dl

8-4075
8-4100
8-4131
8-37.69X3.53
8-4187
8-4225
8-4275
8-4337
8-4387
8-4437

8-4075
8-4100
8-4131
8-37.69X3.53
8-4187
8-4225
8-4275
8-4337

18,64
24,99
32,92
37,69
47,22
56,74
69,44
85,32
98,02
110,72

18,64
24,99
32,92
37,69
47,22
56,74
69,44
85,32

L
@
code
3,53 VSEIM-08x30 RVSM-08
3,53 VSEIM-10x35 RVSM-10
3,53 VSEIM-10x40 RVSM-10
3,53 VSEIM-10x40 RVSM-10
3,53 VSEIM-12x45 RVSM-12
3,53 VSEIM-12x45 RVSM-12
3,53 VSEIM-12x45 RVSM-12
3,53 VSEIM-16x50 RVSM-16
3,53 VSEIM-16x50 RVSM-16
3,53 VSEIM-16x50 RVSM-16
3,53 VSEIM-08x30 RVSM-08
3,53 VSEIM-10x40 RVSM-10
3,53 VSEIM-12x45 RVSM-12
3,53 VSEIM-14x45 RVSM-14
3,53 VSEIM-16x50 RVSM-16
3,53 VSEIM-20x70 RVSM-20
3,53 VSEIM-24x80 RVSM-24
3,53 VSEIM-30x100 RVSM-30

* - Habop dnaHua SAE (meTpuyeckuin) cCocTouT n3 4-x MeETpUYECKUX 60nToB, 4-X Wanb n 1-ro ynnoTHUTENLHOrO KonbLa.

* - The Kit for SAE flange (metric), is composed by n.4 metric screws, n. 4 washers and n.1 o-ring.

57 -1



Mitypres || S T — | 1T

Habop cdpnaHua SAE - (UNC)*

Kit for SAE flange - (UNC)*

Rondelle

part number

3000 psi
SCU3-08 1/2" 8-4075 VSEIU-5/16x1-1/4 RVSU-5/16
_____——
SCU3-16 8-4131 32,92 VSEIU-3/8x1-1/2 RVSU-3/8
____——
SCU3-24 1"1/2 8-4187 47,22 VSEIU-1/2x1-3/4 RVSU-1/2
_____——
SCU3-40 2"1/2 8-4275 69,44 3,53 VSEIU-1/2x1-3/4 RVSU-1/2
Sscus4s 3" 8437 8532 353 VSEWSBX2  RVSUSB
SCU3-56 3"1/2 8-4387 98,02 3,53 VSEIU-5/8x2 RVSU-5/8
scus-64 4" sa4d7 11072 353 VSEWSBX2  RVSUSB
6000 psi
SCU6-08 1/2" 8-4075 18,64 8158 VSEIU-5/16x1-1/4 RVSU-5/16
34" 84100 2499 353 VSEWU3Bx112  RvsU3B
SCU6-16 1" 8-4131 32,92 8158 VSEIU-7/16x1-3/4 RVSU-7/16
____——
SCU6-24 1"1/2 8-4187 47,22 VSEIU-5/8x2 RVSU-5/8

* - Habop cdnaHua SAE (UNC)cocTtout ns 4-x UNC 6onToB, 4-x Wwawnb n 1-ro ynnoTHATENBHOrO KombLa.
* - The Kit for SAE flange (UNC), is composed by n.4 UNC screws, n. 4 washers and n.1 o-ring.

Fluid Power Care 58 -1 IMM Group



